Q-1

eng

ST-2049 RRBPO (MAINS) 2020

Statement: Mrs Indira Gandhi nationalised 20 banks of India — 14 in the year 1969 and 6 in the year 1980 — saying that the banks were not following the
policies adopted by the country after Independence and forced them to come under government ownership.

Which of the following is/are assumption(s) in the above statement?

1. Banks were nationalized because they followed the concept of class banking not mass banking.
II. India being a socialist country, it is the duty of the banks to the welfare of people.

III. The banks should be nationalized in socialist country.

IV. It was declared by the first PM of India that there will be nationalized banks in India.

01. OnlyI 02. OnlylandII
03. Only IT and III 04. Only L, I and III

05. All of these
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05. I 7+f}

Unlike other retail outlets, where items are purchased in any number of units the customer wants, in super-markets items are grouped in bulk packages.
This bulk buying offers saving to the customer. The option to buy at wholesale prices by buying in bulk makes super-market a practical choice for budget-
conscious consumers.

Which of the following assumption may be derived from the above information?

01. Super-markets often have greater buying ~ 02. Super-markets are often more conveniently located and have better parking facilities
power and lower overhead costs, so they
can offer a greater variety of products than
regular retail outlets
03. The emergence of super-markets has 04. Tt is economically wise to buy single items since bulk packages seldom offer significant savings
caused many small retail stores to close
down and thus eliminate competitions

0S. The financial savings from purchasing bulk

packages may outweigh the inconvenience

of being unable to purchase in any number

of units that suits the customers’ need
TAL GELT AT % A, g a0 ATt T T=a7 % Aqare St of Tear § Tohts @iy Sl &, qu% qTiehe § T&q0 o Taet § ag2a
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GET AT T STTEAT T30 ATTH
THRTL T FT T B
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Solution for Question 2 Ans Key: 5

eng

Buying in wholesale and bulk depends upon the choice of the customer’s choice and may cause financial saving.
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Q-3 Chewing- tobacco has many benefits. However, the primary benefits occur in the area of mental health. The habit originates in a search for contentment.
eng The life expectancy of our people has increased greatly in recent years. It is possible that the relaxation and contentment and enjoyment produced by
tobacco chewing has lengthened many lives. Hence, chewing tobacco is beneficial.
Which of the following, if true, would weaken the above conclusion?
01. The evidence cited in the statement covers 02. The Government earns millions of rupees from the sales of chewing tobacco
only one example of the effects of tobacco
chewing
03. There is as yet no statistical evidence to ~ 04.  All of the above
prove a link between chewing and longevity
05. None of the above
Q-3 TATE T & S IS 2| FATTh, STATHE ATH WA TATEST F & H 2T gl THeT Sad AT 20l TATL H ITH ST g1 FHTL ARM 0T S{rare
hi ST H BT % aUT § FHN 915 g3 | TS 99 ¢ o6 TR FaT & o arar s, S $ii¥ g F AR % S Hl a9 a=q7al gl A,
. iz 3
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Q-4 The Deficit of India is increasing day by day and we can see that non plan expenditures of the government are increasing enormously.
What courses of action should the government take in order to decrease the Deficit of the country?
(1) Make more strict fiscal policy
(2) Disinvestment
(3) Introduction of new bonds
(4) Printing of currency
01. Only (1) 02. Only (1) and (2)
03. Only(3) 04. Only (4)
05. All ofthese
Q-4 TTEA 7 =1eT fe-Ufafe aedr ST 721 2 o< 20 3@ Foha 2 T IaTe 7 J2-TIS 0T o177 AT iae aadT o1 42r 2l
9T F TS T FH A 5 77 | LR F T FH T T A7 Fhame! FH7 A1202
(1) 3T T&T TSRS A T AT
2) fataeer
(3) U 7 T TETEAT
(4) T&T HT H3T
01. F=ae (1) 02. Fae (1) 3T (2)
03. Fa (3) 04. Faet (4)
05. = &+t
Q-5 Statement:
eng The cinema halls are incurring heavy losses these days as people prefer to watch movies in home on TV than to visit cinema halls.
Courses of action:
I. The cinema halls should be demolished and residential multi-storey buildings should be constructed there.
I1. The cinema halls should be converted into shopping malls.
01. IfonlyI follows 02. Ifonly II follows
03. Ifeither I or II follows 04. Ifneither I nor II follows
05. Ifboth Iand II follow
Q-5 FIA:
hi AT B 7 39 A7 AT THATT ISTT G 72T & FAT1h AN (AT gt 2l qore1 § =¥ 92 ST § qAT a@AT THE F3d g

FTEATS :
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1L fRreraT giet 7 oriffr it § sraet i3 S =z

01. o7f2 Faref I SATHTIT AT 2§ 02. =7f2 Faret 11 A0 H7AT 8

03. rf =T [ 37 11 STHEYT FaT & 04. T T AT IS I AT FLAT B
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Q-6 In the question below is given a statement followed by two assumptions numbered I and II. You have to consider the statement and the following
eng assumptions and decide which of the assumptions is implicit in the statement.

Statement:

World Design Organization (WDO) will be launching its new global programme "World Design Protopolis' in Mumbai.

Assumptions:

I. The mega event, witnessed the convergence of policymakers and government officials, design professionals from India and abroad, architects, interior
designers, heads of various companies, thought leaders, besides the general public.
I1. The project also aims to measure the progress of the city, attract investments and solve problems so that the city becomes a better place for citizens.

01. [fonly assumption I is implicit 02.  If only assumption II is implicit
03. Ifeither I or IT is implicit 04. Ifneither I or Il is implicit

05. Ifboth I and 11 are implicit
Q-6 = faw 7w e § ua wue o w g S are &1 @emend 1 0 & TS € STy w4 oY Reforia et a7 GEm #3r g e
TZ T AT T 36 I | FIe-HT THLT0T SFqfad gl

FIT:
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ESELILS

fa¥a¥ o
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ST
01. =fF Faer qemeom I AR 21 02. fe Faer LT 1 iaf2a 21
03. g 7T ar 197 11 siqf=zad 21 04. =g T 4T 13T 11 siafdfea g
05. 7fX [ sz 11 2T siafataa 8

Solution for Question 6 Ans Key: 2

The World Design Organization is all set to launch its new global programme World Design Protopolis in Mumbai. It is aimed at implementing holistic
progress in megacities across the world and thus making them sustainable. An assumption I describes the persons involving in the programme. So, only
assumption Il is implicit.

forsg RS e Has & 19+ AU 150 FTIHT qo8 [SATSH TIETTIoId &l Aled e 6 (o7 T I¥E TATE g1 THAHT 3297 AT AT | AMAET
H T R T AR FIAT & 3T TH THE Irg, T a1 81 TF TALTT | FTAFH | T ATHRIT 6 a1 § Faqrar gl b, Fad e 1

Passage for Question 7, 8, 9, 10, 11 (ST-2049RRBPOMAINS(25-29R)2020)
eng Passage

Study the given information carefully and answer the given questions.

Ten people are sitting in two parallel rows containing five people each, in such a way that there is an equal distance between adjacent persons. In Row-1- A, B, C,
D and E are seated, but not necessarily in the same order. In Row-2-P, Q, R, S and T are seated, but not necessarily in the same order. Some members are facing
south and some members are facing north. Therefore, in the given seated arrangement each member seated in a row sits opposite to another member of the other
row either facing to north or south.

Q, who is the second youngest person is sitting at the extreme end of the row. At least five persons elder than B. P is third to the right of Q. D is at immediate left of
E. R is not an immediate neighbour of P. T faces opposite direction to R. The person who sits diagonally opposite to T is third youngest person of the family. D sits
immediate left of the person, who sits opposite to Q. Only one person sits between D and A. B is to the immediate left of eldest person of the family. Only two
persons elder than R. T is second to the left of S. Two persons sit between A and C. E does not sit opposite to T. D and P faces opposite directions. T is to the
immediate right of P. E sits second to the left of B. T is third to the left of R. T is elder than P but younger than S. R is elder than T and B but younger than A.
Youngest person of the family sits opposite to S. Q faces north. B is not the eldest person of the family. D is elder than the one who sits second to left of T.

hi Passage
LTS AR FTSATALAF Ae7FT B AT T 7307 & S
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F T 92T AR A5l g1 D,T % aT0 & TAL I 9T 95 A<k 927 8

TERT T8 g1 T,R F faadid fem it e 39@ g1 9 =af<h o1 T 3% faepvia: faradia S=1 8 afvame &1 e @er =16 g1 D, 39 =3fe % 2i% ard 921 8 ST
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Q-7 What is the position of T with respect to the third oldest person?

eng

01. Third to the right 02. None of these
03. Fourth to the left 04. Second to the left

05. Immediate to the right
Q-7 T HaE T2 AT & dvad # T HT T 77 872

01. =70 & e 02. =% FFTE TEH
03. ard & =T 04. aTd & I
05. #rF a0

Solution for Question 7 Ans Key: 3
) >E
- all persons are arranged m ascending order from their ages, then what 1s the position of the person, who sits second to the left of E?
8 If all d i i der fr hei I hat is tt iti f'th ho si 1to the left of E?
01. First 02. Sixth
03. Seventh 04. Fourth
0S. Third
Q-8 Tfs qdT ARIT FT ITHT 3 & AT HH § AT AT ST AT E % 910 & THY T 92 95 A T<h HT €74 F47 872
01. 9getr 02. Ta1
03. TTaar 04. =T
05. TrET
Solution for Question 8 Ans Key: 5
c D E A
Fia 1 1 at i 1 ‘LE'
W | R I
T l l A~ D
I A | |
Q R 5 P T
A>D>R>S>T>B/P>B/P>C>Q>E
hi c D E A
1 1 at i 1 '.li'
+ W | V I
T l l S D
I A | |
Q R s P T
A>D>R>S5>T>B/P>B/P>C>Q>E

Q-9 Who among the following sits diagonally opposite to third youngest person of the family?

eng



01. Person, who sits opposite to B. 02. Fourth eldest person of the family

03. Both (A) and (D) 04. Fifth eldest person of the family.
05. Q
Q-9 Fefafe & & 19 9w F Tox ga9 g 9ae7 & G BT der 82
hi
01. =% ST B & faodia a1 2 02. 9RETT FT AT I=T HGET 2
03. (A) =T (D) ==l 04. qfETe FT qi=aT FST H3%7 &
05. Q
Solution for Question 9 Ans Key: 5
B : © & * 1
+ | < I
™| | A~ A
| L - | I
Q R s P
A>D>R >5>T>B/P >B/P >C>Q>E
5 T AT
+ | N I
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Q-10  Which of the following statements is true regarding D?
01. D sits opposite to S. 02. D faces south and sits immediate left of C.
03. None of the given statements is true. 04. Q sits opposite to the one, who sits immediate left of D.
05. Only two person sits between D and A.
Q-10 fwfofed & ¥ #:19 a1 F99 D F 9= § 97 52
01. D,S % faodia et 2l 02. D, gferr 7 T 37@ g o< C & 31 a0 J37 2
03. w0 Fui H § 12 T Tl gl 04. Q 3% =k + AT 43T ST D F 21 aT0 427 2
05. DT A &g Fae a1 =AT<h & 2
Solution for Question 10 Ans Key: 2
eng
a R
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Q R 5 P T
A>D>R>S>T>B/P>B/P>C>Q>E
Q-11 If fourth youngest person of the family is 34 year, then what is possible age of B?
eng
01. Bis 34 year old. 02. More than 34 year
03. Can’t be determined 04. Less than 34 year
05. None of these
Q-11  =fx IRE FT =147 T&F BIeT A<h 34 T T ¢ qT B T AT A1 F47 82
hi
01. B34 79 FTZ 02. 34 7 F TFaF g
03. fRerfea a2t o oI &har 04, 3495 FT
05. i & A8
Ans Key: 3

Solution for Question 11



C D E A
Fi& 1 1 at i 1 ’%‘
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Q-12 This question four statements are given followed by five conclusions, one of which definitely does not logically follow (or is not a possibility
eng of occurrence) from the given statements. That conclusion is your answer.
(Note : You have to take the four given statements to be true even it they seem to be at variance with commonly known facts and then
decide which of the given conclusion logically does not follow from the given statements disregarding commonly known facts.)
Statement:
All manisha are meena
All meena are paras.
No paras is kiran.
No kiran is a renu.
Conclusion:
01. At least some manisha are kiran. 02. All renu being manisha is a possibility.
03. Al paras being renu is a possibility. 04. At least some paras are manisha.
0S. No kiran is a meena
Q-12 fafafgayraidIRTsfrracE fms arggie fAsad fRrgae g, oad @ vs R ru s+ & € A € 08 aa gt sgacragt
FIATE (AT RES I T G917 W1 T §)1 a8 fves smawT3ITTR)
(@TE: ATHRT T AT ATLHRITT RV AT HAATE 9 31 9 qdwra 72471 @ 4w wfia 3 g1 L aq fford Ryag st & § Fyaav
frsad TR FITi FTATRS T AT TE FLATRN)
FIT:
T AT, HOm 2
T HOT, TR €
IGLED
01. =% & ¥ FZ AT, 0T 21 02. &r+fT ¥ F FATT g1 T F91aHT g
03. H¥Y GTH F T Z 1 HATIAT 2| 04. % & W F TTLH, AT 5
05. =7E fopeor Hiom 7T 2
Solution for Question 12 Ans Key: 1
eng
hi
Q-13 This question four statements are given followed by five conclusions, one of which definitely does not logically follow (or is not a possibility
eng of occurrence) from the given statements. That conclusion is your answer.

(Note : You have to take the four given statements to be true even it they seem to be at variance with commonly known facts and then
decide which of the given conclusion logically does not follow from the given statements disregarding commonly known facts.)



Statement:
Some R are B.
AllR are M.
All B are D.
No DisaDP.
Conclusion:

01. All DP being M is a possibility. 02. NoMisaB
03. NoDPisaB 04. At least some R are D.
05. At least some M are D

Q-13 fafafgaraid IRTgfrracs fms a1 gig fasad fRrg e, /A @ vs R T syt & € AiSg €0 a aaget sgacragh
hi FIATE (ATRES g FT G917 (T T 3)1 a8 fas smawTITTR)

(TS ATFRT T AHT ATCHITT R T AT ATAATE TA 1 7 A AT7 7T 4 P wfiq gra gt vz qag fford frg o fasws i & @ w47

fAewd frT a3 w9 FTATR S TTE ATECT TET FLATRN)

FY:

FER,BE

T R, M 2

ot B, D &

#TE D, DP 75T 2

o=

01. 7+ DP 3 M 2+ i &7 2 02. FZM, B TEl 2l

03. FT< DP, B &l 2| 04. FHHFAFZ R, DEI

05. =% ¥ 7 FZ M, D 2
Solution for Question 13 Ans Key: 2
Q-14 This question four statements are given followed by five conclusions, one of which definitely does not logically follow (or is not a possibility
eng of occurrence) from the given statements. That conclusion is your answer.

(Note : You have to take the four given statements to be true even it they seem to be at variance with commonly known facts and then

decide which of the given conclusion logically does not follow from the given statements disregarding commonly known facts.)

Statement :

All seena are reena.

All jaya are seena.

All jyoti are jaya.

No reena is a diksha.

Conclusion:

01. No seena is a diksha. 02. Alljyoti are reena.

03. No jaya is a diksha. 04.  All diksha being jyoti is a possibility.

05. At least some reena are jaya.
Q-14 feffEgyaid I g fTravs s areoiw fased frg e g, B+ & ua feg gl & § AT €78 aaQf stqaeor a8t
hi FIATE (ATRES G F T G917 W T §)1 a8 fees smusTITTR)

(TE: AAFHT T THT ATTFHATT HT AT ATAAT R WA g1 & GaATT 741 4 INA AT g gi s AT A9 FEq g fAsH i & & F7 97
frowd faq T3 F971 FTATTR S €T T AT AET FLATR )

FIT:



T 4T, T
Tl 57T, {47 2
ot s, St 2
TS AT, T T 2
sy

01. =7 =T, et 727 B 02. #sft =i, Tt 2
03. =Yg 57T, EeAT AT ) 04. woft feq7 3% S g Y TaTEET @
05. 7 F F7 Fz Ta7 747 E

Solution for Question 14 Ans Key: 4

eng

%

Q-15

This question four statements are given followed by five conclusions, one of which definitely does not logically follow (or is not a possibility
of occurrence) from the given statements. That conclusion is your answer.

(Note : You have to take the four given statements to be true even it they seem to be at variance with commonly known facts and then
decide which of the given conclusion logically does not follow from the given statements disregarding commonly known facts.)

Statement:
Some D are ravi.
All ravi are ram.
All ram are S.
No Sis A.
Conclusion:

01. All A being D is a possibility. 02. No A is ram.
03. Al D being A is a possibility. 04. Allravi are S.
05. NoraviisaA

frafarfaa v & g wg frgare g s aregiw fAsed fygag g, frad @ s fRgrrsaat § 9 Ffgg €@ st agaorady
FLATE (ITRES g AT EA1aa71 77 AET 8)1 T8 v s sraFT3IqC ]|

(TS STTFT T AHT ATTHITT R T AT ATAATE TA 1 7 G ATT 7T & P wfiq gra gi g fifora frgrg faswsi & & Fr 47
ey feq T 91 FTIATMN S ©TH AT AZT HLATR )

FIT:
FZ D, TET B
Tl T, T 2
aoft 7w, S 2
FIES, AT 2
IRLEOH

01. Tt A% D21 &7 Fwraar 21 02. FTE A, 7T L 2
03. =+ D A ZI T H9TET 2 04. =7+ 74, S 2
05. <R, A 3

Solution for Question 15 Ans Key: 3

eng

D RAVI JRAM\S A



Q-16

eng

Q-16

This question four statements are given followed by five conclusions, one of which definitely does not logically follow (or is not a possibility
of occurrence) from the given statements. That conclusion is your answer.

(Note : You have to take the four given statements to be true even it they seem to be at variance with commonly known facts and then
decide which of the given conclusion logically does not follow from the given statements disregarding commonly known facts.)

Statement:
No SisaM.
AllHare N
AllJare M
AllM are HT.
Conclusions:

01. AllHT are S 02. Some N are H

03. All H being HT is a possibility. 04. AllJare HT.

05. None of these.

afafag v #§ Iy Ry g s arg ora sy feg e g, ’™rad & us frgau s & 9 Wi €78 a8 of srgaeor T8t
FLATE (AT @S g T EA1a971 #T AT 8)1 T8 v s srawT3IqT RN

(TE: MIFT T THT ATTFHIAT FT T ATAATE 9 3T T GEATq 7271 4 FAT wefta gra g kT aT fford few e faseai & & Fraar
Aewd fyT a3 w91 FTATR S T H ATECT TET FLATRN)

FY:
FES,MTASE
it H, N 2|
TdT ), M 2l
T+t M, HT 2
Ao

01. 5 HT, S 02. %N, HE|
03. =Y H 3 HT 29 T HATaT 2 04. T J, HT 21
05. =8 FFIE AL

Solution for Question 16 Ans Key: 1
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Passage for Question 17, 18, 19, 20, 21 (ST-2049RRBPOMAINS(30-34R)2020)
eng Passage

Study the following information carefully to answer the given questions.

A word and number arrangement machine when given an input line of words and numbers rearranges them following a particular rule in each step. The following is
an illustration of input and rearrangement.




Input: 97 Country Under 48 35 Show Happen 18 38 Zero.
Step I. Country Under 48 35 Show Happen 18 38 Zero 97
Step II. Country Happen Under 35 Show 18 38 Zero 97 48
Step III. Country Happen Show Under 35 18 Zero 97 48 38
Step IV. Country Happen Show Under Zero 18 97 48 38 35
Step V. Country Happen Show Under Zero 97 48 38 35 18
Step VI.38 1921269748 383518

Step VI is the last step for the above input. As per rules followed in the above steps, give an answer to the following questions.

Input: Unique 55 87 Contain Trunk 13 Goes 44 62 Zoo

hi Passage

NIEEIRE RS IEFCEEIZEERIIERE IR ELE R IE ISR LI F

U 9758 3T HEAT T HATEAT FIA ATAT T FLfT Fl T 31 37T HEATHA 6T UF TAE Uik G0 S 92 g 9 et Rt F aqame ves =ew §

AT Fdl g aferad, Tade siT [adaea T 92l 1 UF 38180 gl

T9q<: 97 Country Under 48 35 Show Happen 18 38 Zero.
T [. Country Under 48 35 Show Happen 18 38 Zero 97
=07 1I. Country Happen Under 35 Show 18 38 Zero 97 48
=07 1I1. Country Happen Show Under 35 18 Zero 97 48 38
=0T IV. Country Happen Show Under Zero 18 97 48 38 35
=207 V. Country Happen Show Under Zero 97 48 38 35 18
FLT VI.381921269748383518

FTOT VI IILE TAYE & oI sffa =2 g1 S = § fu v f[emt & s, Faferfed w

TLE: Unique 55 87 Contain Trunk 13 Goes 44 62 Zoo.

Q-17 Which of the following Step is last but one step?

01. Contain Goes Trunk Unique 13 44 Zoo 87 02.

62 55

03. Contain Goes Trunk Unique Zoo 62 87 55 04.

44 13

0S. Contain Goes Trunk Unique Zoo 87 62 55
4413

Q-17 fA=fafad @ & =1 a7 sifaw & wger arem =< 2

01. Contain Goes Trunk Unique 13 44 Zoo 87 02.

6255

03. Contain Goes Trunk Unique Zoo 62 87 55 04.

4413

0S. Contain Goes Trunk Unique Zoo 87 62 55
4413

Solution for Question 17

eng

o N

Contain Goes Trunk Unique Zoo 13 87 62 55 44

Contain Goes Unique 55 Trunk 13 44 Zoo 87 62

Contain Goes Trunk Unique Zoo 13 87 62 55 44

Contain Goes Unique 55 Trunk 13 44 Zoo 87 62

Input: Unique 55 87 Contain Trunk 13 Goes 44 62 Zoo.

Step I.  Contain Unique 55 Trunk 13 Goes 44 62 Zoo 87
Step II. Contain Goes Unique 55 Trunk 13 44 Zoo 87 62
Step III. Contain Goes Trunk Unique 13 44 Zoo 87 62 55
Step IV. Contain Goes Trunk Unique Zoo 13 87 62 55 44
Step V. Contain Goes Trunk Unique Zoo 87 62 55 44 13

Step VI. 372021 26 87 62 5544 13

$Y97< : Unique 55 87 Contain Trunk 13 Goes 44 62 Zoo.
TROT . Contain Unique 55 Trunk 13 Goes 44 62 Zoo 87
TROTII. Contain Goes Unique 55 Trunk 13 44 Zoo 87 62
TOT I1I. Contain Goes Trunk Unique 13 44 Zoo 87 62 55
TROT [V. Contain Goes Trunk Unique Zoo 13 87 62 55 44
TOT V. Contain Goes Trunk Unique Zoo 87 62 55 44 13

TOT VI. 3720212687 625544 13

oSS R

Ans Key: 5



Q-18  What is the sum of the numbers, which is 3rd from the left end in Step VI and 2nd from the right end in Step V?
eng

01. 64 02. 84

03. 74 04. 94

05. 54
Q-18 =¥ VI # J10 BT F oY ofi =20 V H 313 BY § ALY HeAT 7 AN b 82
hi

01. 64 02. 84

03. 74 04. 94

05. 54

Solution for Question 18

eng Input: Unique 55 87 Contain Trunk 13 Goes 44 62 Zoo.

Step I.  Contain Unique 55 Trunk 13 Goes 44 62 Zoo 87
Step II. Contain Goes Unique 55 Trunk 13 44 Zoo 87 62
Step III. Contain Goes Trunk Unique 13 44 Zoo 87 62 55
Step IV. Contain Goes Trunk Unique Zoo 13 87 62 55 44
Step V. Contain Goes Trunk Unique Zoo 87 62 55 44 13
Step VI. 3720 21 26 87 62 5544 13

§<19< : Unique 55 87 Contain Trunk 13 Goes 44 62 Zoo.
TOT [.  Contain Unique 55 Trunk 13 Goes 44 62 Zoo 87
=T II. Contain Goes Unique 55 Trunk 13 44 Zoo 87 62
=0T [II. Contain Goes Trunk Unique 13 44 Zoo 87 62 55
TOT [V. Contain Goes Trunk Unique Zoo 13 87 62 55 44
U7 V. Contain Goes Trunk Unique Zoo 87 62 55 44 13

TIIOT VI. 372021 26 87 62 5544 13

Q-19 Which of the following number/word is 3rd to the left of 62 in Step V?

01. Trunk 02. Unique
03. Zoo 04. 87

05. None of these
Q-19 =TT VH 62 F ardi s F AT SeAT/eTeR i AT 82

01. Trunk 02. Unique
03. Zoo 04. 87
05. =% 7 FTE Tl

Solution for Question 19

eng Input: Unique 55 87 Contain Trunk 13 Goes 44 62 Zoo.
Step I.  Contain Unique 55 Trunk 13 Goes 44 62 Zoo 87
Step II. Contain Goes Unique 55 Trunk 13 44 Zoo 87 62
Step III. Contain Goes Trunk Unique 13 44 Zoo 87 62 55
Step IV. Contain Goes Trunk Unique Zoo 13 87 62 55 44
Step V. Contain Goes Trunk Unique Zoo 87 62 55 44 13
Step VI. 372021 26 87 62 5544 13

hi §<19< : Unique 55 87 Contain Trunk 13 Goes 44 62 Zoo.
TROTI. Contain Unique 55 Trunk 13 Goes 44 62 Zoo 87
TIOT 1. Contain Goes Unique 55 Trunk 13 44 Zoo 87 62
TOT I11. Contain Goes Trunk Unique 13 44 Zoo 87 62 55
=T IV. Contain Goes Trunk Unique Zoo 13 87 62 55 44
TIOT V. Contain Goes Trunk Unique Zoo 87 62 55 44 13

TROT VL. 3720212687 62554413

Q-20 Find the difference between the numbers, which is 2nd from the right end in Step II and 3rd from the right end in Step IV?
eng

01. 35 02. 25

Ans Key: 1

Ans Key: 2



03. 45 04. 95

05. 15
Q-20 =TI H IH T & oL 3T 707 [V § a1 BT & A6 FeAqT F HeT Hq¥ A1 Hrford|

01. 35 02. 25
03. 45 04. 95
05. 15

Solution for Question 20 Ans Key: 2

eng Input: Unique 55 87 Contain Trunk 13 Goes 44 62 Zoo.
Step I.  Contain Unique 55 Trunk 13 Goes 44 62 Zoo 87
Step II. Contain Goes Unique 55 Trunk 13 44 Zoo 87 62
Step III. Contain Goes Trunk Unique 13 44 Zoo 87 62 55
Step IV. Contain Goes Trunk Unique Zoo 13 87 62 55 44
Step V. Contain Goes Trunk Unique Zoo 87 62 55 44 13
Step VI. 372021 26 87 62 55 44 13

hi §<19< : Unique 55 87 Contain Trunk 13 Goes 44 62 Zoo.
TROT[. Contain Unique 55 Trunk 13 Goes 44 62 Zoo 87
TIOT 1. Contain Goes Unique 55 Trunk 13 44 Zoo 87 62
TOT 1. Contain Goes Trunk Unique 13 44 Zoo 87 62 55
TOT [V. Contain Goes Trunk Unique Zoo 13 87 62 55 44
TROT V. Contain Goes Trunk Unique Zoo 87 62 55 44 13

IIOT VI. 372021 26 87 625544 13

Q-21 What is the position of “Z00” in Step IV?

01. 5th from left end 02. 4th from right end
03. 3rd from left end 04. 4th from left end

05. 6th from left end
Q-21  FTOIV H “Zoo” FT T TITH &2

01 &t & & i 02. =3 e & =
03. 70 & faw 04. FTT T H =TT
05. 970 ZT T BT
Solution for Question 21 Ans Key: 1

Input: Unique 55 87 Contain Trunk 13 Goes 44 62 Zoo.
Step I. Contain Unique 55 Trunk 13 Goes 44 62 Zoo 87
Step II. Contain Goes Unique 55 Trunk 13 44 Zoo 87 62
Step III. Contain Goes Trunk Unique 13 44 Zoo 87 62 55
Step 1V. Coitain Goes Trunk Unigue Zoo 13 87 62 55 44
Step V. Contain Goes Trunk Unique Zoo 87 62 55 44 13
Step VI. 3720 21 26 87 62 5544 13

o geq<: Unique 55 87 Contain Trunk 13 Goes 44 62 Zoo.
TIOT |. Contain Unique 55 Trunk 13 Goes 44 62 Zoo 87
T |l. Contain Goes Unique 55 Trunk 13 44 Zoo 87 62
TOT |II. Contain Goes Trunk Unique 13 44 Zoo 87 62 55
TIOT [V. Contain Goes Trunk Unique Zoo 13 87 62 55 44
TIOT V. Contain Goes Trunk Unique Zoo 87 62 55 44 13

TROTVI. 37 20 21 26 87 62 55 44 13

Passage for Question 22, 23, 24, 25, 26 (ST-2049RRBPOMAINS(20-24R)2020)
eng Passage

Study the information carefully and answer the questions given below.

In a certain code language,

“Cabinet Committee Economic Affairs” is written as ‘713 9V4 §R4 7V3'
“detailed commercial assessment” is written as ‘10M3 8V4 1074’

“haul international routes” is written as ‘1326 4F2 6V3’




hi Passage

ot Tastd &1 eamyd® sregga Fvrg s g ag it F sgedfom

REREIECETEIEIE

“Cabinet Committee Economic Affairs” T 713 9V4 8R4 7V3' for@T SraT &
“detailed commercial assessment” T *10M3 8V4 10Z4° foraT STaT &

“haul international routes” T 13Z6 4F2 6V3* feraT srar %

Q-22  Which of the following words could be coded as ‘5M1 6R3*?
eng

01. Brand Sale 02. Brand Retail
03. Brand Tour 04. Tour Retail

05. None of these
Q-22 A HF AT AT AT ‘SMI 6R3’ F & § Feax AT ST TahdT &2

01. Brand Sale 02. Brand Retail
03. Brand Tour 04. Tour Retail
05. =% ¥ FI 721

Solution for Question 22

ROUTES 6V3 Tatal number of

Oppaosite letter of the second last

letter inthe word

ROUTES

FEUD

Q-23 Which of the following represents the code for “fulfilment’?

01. 10M4 02. 10N4
03. 10M5 04. 10M2

05. None of these
Q-23 = HFFE AT “fulfilment’ F Fie FT =0T Far 82

hi
01. 10M4 02. 10N4
03. 10M5 04. 10M2
05. =% T IS Al

Solution for Question 23

Ans Key: 2

Ans Key: 5

eng Opposite letter of the second last

letter in the word.

ROUTES 6V3 Total number of
vowels in the word

Toatal number of
letters in the word.




Opposite letter of the second last
letter in the word.

ROUTES 6V3 Tatal number of
vowels in the word

Toatal number of
letters in the word.

Q-24

eng

Which of the following could be coded as ‘8U3°?

01. Rectify 02. Unified
03. identify 04. continue

05. None of these
e o 5 58 *8U3” % =7 | Fzaa T ST HohaT 872

01. Rectify 02. Unified
03. identify 04. continue
05. =98 ¥ F1E T2

Solution for Question 24 Ans Key: 3
|7 g
ROUTES
|7 r of the second last
ROUTES Tatal nury ]
l wels in the word
Toatal numt
Q-25 Which of the following is the code for ‘Computer’?
01. 703 02. 8v4
03. 7v3 04. 8V3
05. None of these
Q-25 = H ¥ ‘Computer’ F forw 71 %= 82
hi
01. 7U3 02. 8v4
03. 7v3 04. 8V3
05. = ¥ 4TS A
Solution for Question 25 Ans Key: 4
£ag Opposite letter of the second last
letter in the word.
ROUTES 6V3 Total number of
vowels in the word
Toatal number of
letters in the word.
hi

Opposite letter of the second last
| letter in the word.



6V e Ttal number of
vowels in the word

ROUTES

Toatal number of
letters in the word.

Q-26

eng

Which of the following will be the code for ‘Electrifying’?

01.
03.
0s.

12M4 02. 12M5
11MS5 04. 11M4
12M6

9% & & “Electrifying’  forw 7 2 32

01.
03.
05.

12M4 02. 12M5
11M5 04. 11M4
12M6

Solution for Question 26 Ans Key: 1

ano

Q-27

F

ROUTES 6V3

ROUTES umber

-
N

letters in th

Each of the questions below, consist a question and three statements numbered I, II and III. You have to decide whether the data provided in

the

statements are sufficient to answer the question. Read the three statements and Give answer

In which direction is statue facing?

I. The statue’s shadow falls at 4 O’ Clock to the right of the statue.

IL.
111

01.

03.

0s.

The statue is towards the south end of the city.
In evening time.

If the data in statement I and 11 together are 02. If the data in statement I and 111 together are sufficient to answer the question, while the data in
sufficient to answer the question, while the statement II are not required to answer the question.

data in statement III are not required to

answer the question.

If the data in statement II and III are 04. If the data in all three statements I, IT and III together are necessary to answer the question.
sufficient to answer the question, while the

data in statement [ are not required to

answer the question.

If the data in all the statements, I, IT and 111
even together are not sufficient to answer
the question.

T3 e rAw T &, THFIT A TATHITFATHR L I AT FRuw ) smasy Aot a7 8 o Faai & fRaraarsrer g #1357%
7 % frgaata & ITaE 191 FI91 F 1 wfFC A TITCART

i formr for £ e 3= 82
I 9T 6t g 4 350 39 379 7 fTers T dft )

1I.
III.

qfT erg7 F sl g fr A7 )
9TTH 3 |qHT U<



01. =rfa shore 3/ [1 7 fo=7 19T 2teT 02. FfF e 137 1 H fo7m 1w =rer ey wor &7 39 39 % forg ooty 2, Safd s 1+
T W7 7 3T 39 & oo aaia g, T3 AT =TT W7 FT I I F oI a9 T a8 2
St e 101 H =T 13 =1er wor v
IAT 3 F o0 a9 T+ 781 g
03. FfgFAT AT MIA RATTATSR@T T 04, FfS A1 FAAT 1, 11T 11 H 337 797 21eT e w7 &7 397 a9 % o0 sraea g
T IAL 3 % o qoiy g, Staf Fa9 1
T o= 7 =TT W T I I * o
AF9TF Tl 2l
05. rf = o I, 11 37 11 | g
T e fr ey wT e I F forw
TITH TRl Bl

Q-28 Each of the questions below, consist a question and three statements numbered L, II and III. You have to decide whether the data provided in
eng the statements are sufficient to answer the question. Read the three statements and Give answer
What is the code for ‘INCREASE’ in a certain code language?
I. Ina certain code language ‘increase your business’ is coded as ‘lap duh pud’ and ‘mind your language’ is coded as ‘hpu dap lap’.
II. In a certain code language ‘increase fast and win’ is coded as ‘phl pud Iph hap’ and ‘go and move ahead’ is coded as ‘hap pul pah Iph’
II1. In a certain code language ‘move your legs’ is coded as ‘pah lap plh’ and ‘legs go on’ is coded as “pal plh pul’
01. Ifthe data in statement I and II together are 02. Ifthe data in statement I and I1I together are sufficient to answer the question, while the data in
sufficient to answer the question, while the statement II are not required to answer the question.
data in statement III are not required to
answer the question.
03. If the data in statement IT and 111 are 04. If the data in all three statements I, 1T and I1I together are necessary to answer the question.
sufficient to answer the question, while the
data in statement I are not required to
answer the question.
05. Ifthe data in all the statements, I, 1T and III
even together are not sufficient to answer
the question.
Q-28 A TRTTTTAFTITH, TH TT A TAT HFITHATH L, 1L AT Frgaw &1 swaswT Aoia F9718 o6 F970 & fRar a1 srer 1w 139
39 & fargaata & ITaEh)| &1 w1 FYafwstrsacdiord
U AT Fe 9T H INCREASE’ 7T e #7572
I. U= fAfea R AT T “increase your business’ &7 ¢ lap duh pud’ for@T SITaT € 3T ¢ mind your language’ &1 ‘hpu dap lap’ foraT STaT 21
II. U A2 e 9797 # ¢ increase fast and win’ &7 ¢ phl pud Iph hap’ for@T STTAT € 3f¥ © go and move ahead’ #T * hap pul pah Iph’fer@T SITaT 81
11 = Rt he AT T < move your legs’ T * pah lap plh’ for@T STaT 8 37T ‘legs go on’ &T “pal plh pul’ for@T STaT 21
01. IfZ Fg= [ i< 1 ¥ =37 197 =1t 02. T Fu= [ 3f< [ # 237 T2 =Ta7 THeAThe I3 7 I9< 24 & o0 aaig g, i F9 1§
e o7 T 3T a9 # ferw At g, 2T 4T STET WoT T ST 29 F {7 sraegek i 2
STerfer e 11 H &= 77 =1er 957 7
I & o forw s eTeE T2 2
03. T FAT I AT M H FRATTATSIT 04, 773 A1 HAAT 1, 1 T LI H TIT ITAT 7T [HATHRT T T IAL & % [0 97 g
T IAL I % o gty g, STafsh e
T o= 47 TTaT W T IR I & o
AALTF T 2|
05. rfe AT Foaei [, 11 37 11 # o= s
gTeT BT ft vy T sae E & forw
TITH TRl B
Q-29 Each of the questions below, consist a question and three statements numbered I, II and III. You have to decide whether the data provided in
eng the statements are sufficient to answer the question. Read the three statements and Give answer

How old was Aniket on 30th July 2012?

I. Aniket is six years older than his brother Prabir.
II. Prabir is twenty-nine years younger than his mother.
III. Aniket’s mother celebrated her fiftieth birthday on 15th June 2012.

01. Ifthe data in statement I and II together are 02. If the data in statement I and III together are sufficient to answer the question, while the data in
sufficient to answer the question, while the statement II are not required to answer the question.
data in statement III are not required to
answer the question.

03. Ifthe data in statement II and III are 04. Ifthe data in all three statements I, 11 and III together are necessary to answer the question.



Q-30

sufficient to answer the question, while the
data in statement [ are not required to
answer the question.

05. Ifthe data in all the statements, I, II and I1I

even together are not sufficient to answer

the question.
AT FRTITTAFITH, TFIT M IATFITFATF L I AT FRT T | sraay fAotg a7 @ £ w77 § AT Iq1 e I 139
7 % frg oot § TaEl 91 Fa91 F1 afFg s hHRtg

30 STATS 2012 T St it o forat o2

I sfeea, Thie & gg ad =13l
IL ST O+ |/ & 3| a9 greT g
TIL. 3TTRea 3T /1 15 S 2012 FT 39T Ta18at Sediad 74747l

01. rfe o 1 &< 11 § o7 /13T = 1er 02. =rf3 e 1 i< 1M1 & f3o /2 =1er e w7 &7 39 39 & fore gty g, staf foa 1 #§
AT 957 FT 3T a7 & forw uaie 2, o 1T = TeT W T S & % forw srareTE A9y 2l
StarfeR e 11| 33 1T = 1eT wor 7
ITAT 3 F o0 srae T+ 71 g
03. FfXFaa T UIH AT ererysr 04, =rfx il 2t 1, 13 11 | T 72 21eT e o7 T S92 39 % forT srasa g
T IAL & % [0 q2TH g, Sateh Ha9 [
H fo=T T =rer W 7 I A & forw
AFLTF Tl g
05. TfE q=1 =y 1, 11 e 11 # o
zTer e off wor i S e % o
ERIGEEIR

Each of the questions below, consist a question and three statements numbered L, II and I1I. You have to decide whether the data provided in
the statements are sufficient to answer the question. Read the three statements and Give answer

Eight students A, B, C, D, E, F, G and H are sitting around a circle facing to the centre of the table. How many students are sitting between H and A?

I. A is sitting third to the left of B, who is seated third to the left of D. G sits on the immediate left of F.
II. F sits second to the right of B, who is second to the right of G.
I11. F is sitting third to the right of C. H sits second to the right of F and is not the immediate neighbour of D.

01. Ifthe data in statement I and II together are 02. If the data in statement I and III together are sufficient to answer the question, while the data in
sufficient to answer the question, while the statement Il are not required to answer the question.
data in statement III are not required to
answer the question.

03. Ifthe data in statement II and III are 04. If the data in all three statements I, II and III together are necessary to answer the question.
sufficient to answer the question, while the
data in statement I are not required to
answer the question.

0S. Ifthe data in all the statements, I, II and 111

even together are not sufficient to answer

the question.
9 fRTTTTAF ITd, TFIT A TATFITFHTF L 1 AT FXT 17§ | sraswy fAor g a7 § £ w91 & fRgrrarser vy $139%
7 % frgaata & aTaEh| 91 F91 F1 iz A TITThRF|

ars =it A, B, C, D, E, F, G 3T HUF g & AT 3I¥ 0 & %3 il a0k & T2 95 gl H 3T A F fi= foraw fFamdt &2 g2

I. A, B aT0 &Y €19 92 927 8, ST D % 970 q16Y #1992 9371 g1 G, F F 3V a1 937 2
IL. F, B 3T% g8¥ ¥9 9 93T &, ST G 3 213 gET €l
IIL. F, C % T3 T ©I¥ 92 937 1 H, F % 373 8 #I9 92 937 § 3fi¥ D &7 Maedq T2 &l g

01. rfa e 1 3f¥ [1 7 f37 1T =teT 02. FfF e 137 1§ fom 17 =1eT femee w1 &7 S a7 & forg o=y 8, Safs s 1+
AT W7 T 3T 3 & o0 9aiH &, IERIR PRI CA b e s Rls i U | E R T ]
STerfeh e 11 H 2T 72 =1er w51 7
IAC A F o0 srarewa L7 B
03. FfTFAT AT MIA RATTATSRTT 04, FfS A1 FAAT 1, 11 ST 11 H 337 797 21eT emen w7 &7 39 a9 % o0 sraea g
T IAL 3 % o0 q2T] g, STath w99 1
T fo= 47 =TT I T I 3 & forw
AT TEl gl
05. =rfe =T o= 1, 11 e [0 ¥ o
zTeT e ot o T s I F o
T A5 Bl



Solution for Question 30 Ans Key: 2

eng

Passage for Question 31, 32, 33, 34, 35 (ST-2049RRBPOMAINS(6-10R)2020)
eng Passage

Study the following information carefully and answer the given questions.

A BCDEF Gand H are eight family members sitting around a circle facing the centre but not necessarily in the same order. Each of them has a different age
except B and F. There are five females and three males in the family.

E, who is 31 years old, sits second to the right of his sister, who is 43 years old and on the immediate left of his wife. The boy C, who is twice as old as her sister,
sits third to the right of E. F, who is 10 years older than G, sits second to the right of her husband H, who is 18 years older than D. H is not an immediate neighbour
of his sister D. B sits second to the right of A and has two children. G, who is 19 years younger than D, is not an immediate neighbour of E. H sits second to the
right of E, who is the brother of D. Uncle of C is 60 years older than A. G is the son of H.

hi Passage
Fafafaa TTasTd &1 eamgd® sregaa FIR™rg T = g agysi F saeditim

UF TRATT % 35 92+ ABC D EF G T9T H, UF g & AT AT %3 il AT ST ZIHT 5 g ATk SMALTF Ag! 1o T FH | gl 375 9 B TATF &1
SIS, ToAH AT 1 3T AAT-AT | TRATT H q7= AIZATE TAT i T2 &

E, ST 31 a9 &7 8, 9 ST agd & a1 gL €I 9¥ I3 &, ST 43 T it & TAT I Tell % 3T 918 957 gl AT C, S AT a8 F SN[ Y FT1 8, EF
ZT e T 9T AT 81 F, S G 10 a9 £t 8, 3797 9 H ¥ 73 8¢ &9 92 381 €, ST D F 18 a9 =T g1 H AT+ I8+ D FT (Aehed® 7=l 721 g1 B,
A % T TEY T I 37§ TAT 3He0T a1 a1 21 G, ST D H 19 a9 FreT ¢, E FT Ashedw T2l 751 g1 H, E F 313 g0 ¥IF T J31 &, ST D FT AT 51 C
= A A H 60 T2 E1 G, H 7 T &l

Q-31 Who amongst the following is the oldest member in the family?

eng

01. G 02. B
03. D 04. E

05. None of these
Q-31 frwfafad & & #t9 afEw & 9a9 927 93e7 32

hi
01. G 02. B
03. D 04. E
05. =% T FIS AT
Solution for Question 31 Ans Key: 5

en
- + F34




Q-32 How many of the given eight persons are older than H’s son? (including H)
eng

01. Two 02. Three

03. Five 04. Four

05. None of these
Q-32 AU WU ars HeEt § & fhaw H ¥ T F 92 82 (H 7 918 #5320 g0)
hi

01. =r 02.

03. o= 04. =TT

05. = F A TS
Solution for Question 32 Ans Key: 3

+ F 34
~ S 1 .I_.'J L;_)
B — E% =3
= '+ |
A C G’
B o [ T =5
= — ¥ HY — F
|
— + s
A C G’

Q-33 Which of the following options represents the group of females?
eng

01. B,D,E 02. A,G,C

03. A,C,B 04. F,D,G

05. None of these
Q-33  fAwforfea et & & #im a1 afgersit F aug 1 39riar 82
hi

01. B,D,E 02. A,G,C

03. A,C.B 04. F,D,G

05. =it & 8 T8
Solution for Question 33 Ans Key: 5
eng .

£ F 34
24 +
c2
43 D- + =



A C
hi
B —f®—p P =
L L |
A € Gt
Q-34  Whatis the sum of the ages of D and C?
eng
01. 41 02. 46
03. 45 04. 64
05. None of these
0Q-34 DT C ¥ AT FT TN fofeqar &2
01. 41 02. 46
03. 45 04. 64
05. =H ¥ A2 TGl
Solution for Question 34 Ans Key: 3
. F34
ol lValle
FA |
A C G’
hi
L ) — { I_-'J =
B —P—p— W =F
i +
A C Gt
Q-35  Who among the following sits second to the right of B?
eng
01. H 02. C
03. G 04. D
05. None of these
Q-35 [Awfafad § & %19 a7 A6 B F 213 gaY &9 9T 937 82
hi
01. H 02. C
03. G 04. D
05. =% T FIS Al
Solution for Question 35 Ans Key: 2

eng

E F 34

~ A <



Passage for Question 36, 37 (ST-2049RRBPOMAINS(4-5R)2020)
eng Passage

In the following questions some symbols ©, #, *, $ and @ are used with the following meaning as illustrated below:

‘M @ N’ means ‘M is smaller than N’

‘M# N’ means ‘M is either smaller than or equal to N’

‘M % N’ means ‘M is greater than N’

‘M § N' means ‘M is either greater than or equal to N’

‘M @ N’ means ‘M is neither smaller than nor greater than N’

Now in each of the following questions assuming the given statements to be true, find which of the two conclusions I and II given below them is/are definitely true
and give your answer accordingly.

hi Passage
5 ot 7 /3 TAHT ©, #, *, $ 3T @ FT TN WHTrraa i # 6T 137 g, S o6 = gertam 74m &

MONFATEM, NTFElg

‘M# N &1 575 g ‘M, N T ATl Gl g a1 a4 &’
| ‘M N'FT 54 ¢ ‘M, N T I8

‘M$ N FT AT g‘M, N & a7 A1 9T 2 AT e &

M@NFT AT M, NTTT ST T8T

T, fRefertad goas o H, f&3 T F201 7 97 /19T gU, A1q o706 &7 [Hehat 18 11 H i q1/8 [T 9 8 97 g/, TEa 01 37 =ieeq)
F:

Q-36  Statements:

eng M#R,ROJ,J#H
Conclusions:
I. M#H
ILROH

01. Ifonly conclusions I is true. 02. Ifonly conclusions IT is true.

03. TIfeither conclusions I or conclusion ITis ~ 04. Ifneither conclusions I nor conclusions II is true.
true.

05. Ifboth conclusions I and II are true.
Q-36 =I:
hi M#R,ROJ,J#H

Ao

I. M#H

II. ROH



01. 7fx Fae Aoy [ 98T 2
03. fz 77 a7 Ao 137 fed 11927 2
05. =t 2 e [ 3 11 92T 3

Solution for Question 36

02. =1t Faer Aot 11 987 21
04. =rfx 7 97 Aok 17 2 fAeed 19 81

Ans Key: 2

eng

M<R<]J<H
M<H( X )

R (/)

M<R<J<H
M<H( X )

R<H(\/)

Q-37

eng

Q-37

Statements:
V#S,SOL,LOJ
Conclusions:

I. VOL

ILSOJ

01. TIfonly conclusions I is true.

03. Tfeither conclusions I or conclusion 1T is
true.

05. Ifboth conclusions I and II are true.

FIT:

V#S,SOL,LO]J

Ao

I. VOL

I.S©J

01. =f Faer faerd 19) 2
03. 7fE =7 a7 [Ford [ 3T Fowd 11927 21
05. zfe ST fFery 1T 1 =7 2

Solution for Question 37

eng

V<SS <L<]
<o \/]
$<J.(/)

r
L

VES<L<]
V<L(\/)
$<] (/)

02. Ifonly conclusions II is true.

04. TIfneither conclusions I nor conclusions I is true.

02. Ff Faer Aehe 11 9= 81
04. fe 7 qr fAowd 17 2 fAoed 11821 21

Ans Key: 5

hi Passage
Frferfera et &1 e & 72 =i fRw smw v 3 s |

&g A 9, UF =6 3TE-TA [T T 3¥ 12 Hiex Far g si¥ {65 B 9% 9g=at g1 f¥ ag 90° 370 A< AT ¢ 37 24 Hiex 7T g i< &g C ¥ Tg=ar
2, re a8 1@ oo &t T g=ar 2 =i 10 Wiex Foar g1 63 2 7% 9g= & 918, Seid UF 941 <91, 3 {45 C i 39-1@ fRar §

Passage for Question 38, 39, 40 (ST-2049RRBPOMAINS(1-3R)2020)
eng Passage

Read the following instructions carefully and answer the given questions.

From point A, a person walks 12 meters towards north-east direction reached point B. Then he takes a 90° right turn and walks 24 meters and reached point C,
then he turns to the east direction and walks 10 meters. After reaching point Z, he saw a river, which is in the north-east direction of point C.

Q-38

eng

What is the distance between A and F?



01. 20 meter 02.
03. 7 meter 04.

05. None of these
Q-38 ASTEFFAFAR AT

32 meter

Can’t be determined

hi
01. 20 #iex 02. 32w
03. 7z 04. Ty Tg1 BT ST Fahar
05. e A TS AT
Solution for Question 38 Ans Key: 5
eng Aiver
B #
- oA . River
12m P
245 4
A 3 S 4
12m “~River
12m™ // = s
€ 10m .
hi River
B
—, A IT_.i\."t:'l
- 12m .
- ..2:1”' 2
i 12m L‘“
12m
c 10m .

Q-39 If point F is the midpoint of line BC, and Point ABF makes an Equilateral triangle. Then what is the difference between the half distance of line AF and the

eng half distance of line BZ?
01. 20 meter 02.
03. 7 meter 04.
05. 26 meter

32 meter

Can’t be determined

Q-39 =fx &g F, ¥ar BC %1 wex foig & sitw fog ABF ua qwatg Broqst awmar 21 av afxe AF it sweft g3 sfiw dfxp BZ & smeft o8 & 71 sfaw 82

hi

01. 20 #fex 02. 32fiax
03. 7+ex 04. Raiia 72t FraT ST aehar
05. 26 1fiex
Solution for Question 39 Ans Key: 3
eng ..Hivel
B .
13m % -~ i ;iv‘er
12m ~ P
24~ V]
A F ~ 4
i ~River
12m™ // = ~
c 10m :
hi Aiver
B rl
- -
12m - 3 §Iver
12m ~ Pt
24 )
A E e r
12m “~River
12m™ j/ = S
C 10m Z

Q-40 What is the position of the river with respect to the initial position of the person?

eng



01. None of these 02. North-east
03. East 04. Can’t be determined
05. South-east

Q-40  =ifw o sy R 3 i & et oy R P 29
hi
01. =% T IS Ag! 02. 3ITT-IF
03. TF 04. fagifea 72T o s &ear
05. =feror-qa
Solution for Question 40 Ans Key: 4
eng _River
B P f
> &+
s o " River
12m ~ P
24~ P}
A . Sl
12m \E
N s~
12m P =
C 10m .
hi Aiver
12m
C 10m
Q-41 In each of the following questions, read the given statement and compare the Quantity I and Quantity II on its basis. (Only quantity is to be
eng considered)
Quantity 1- A pipe can empty a tank in 40 min. A second pipe with diameter twice much as that of the first is also attached with the tank to empty it. The
two pipes together can empty the tank in how much minutes?
Quantity 2- An amount will become 8 times of itself in 3 years with compound interest. Then in how much time it will become 16 times of itself?
01. Quantity 1 > Quantity 2 02. Quantity 1 < Quantity 2
03. Quantity 1 > Quantity 2 04. Quantity 1 < Quantity 2
0S. Quantity 1 = Quantity 2 or Relation can’t be
established
Q-41 AT IIAFTIA CTGTUFITT T &4 & O SHTATAT 1 SATATAT2 HT TAAT RIS | (FAA ATATHT T AT HR)

hi

HTAT 1- UF 7127 40 AT § UF &5 Greft 7 T 2| AL TT2T 7 AT, Tgol T2 F1 a1 TA71 & 36 GTeAl HA 6 (o0 &F F ST A g UF q1

AT TS & FT1 Fhae 0= § Gret T 99d 22

HTAT 1- FTE TAGT FHA (5 AT 61 T2 & 3T H STTAT 373 AT &1 SATAT ¢, AT A ATAT 16 AT ot awt 7 g 2

01. HTAT1>9HTAT2 02. H{TAT 1 <HTAT2
03. HT=T 1 >HT=AT2 04. HTET 1 <HTAT2

05. TTAT 1 = 9T 2 A7 Fea= Tq7ia Tt
IERIES I ETT]

Solution for Question 41

Ans Key: 1

eng

Quantity 1—
Efficiency o square of radius of pipe
Ratio of efficiency pipes A: B=1:22=1:4
Total volume = 1x40 = (1+4) X t
t =8 min, So Quantity 1 =8
Quantity 2—
If 8 = 23 times in 3 years
2! times in 1 year
Then 16=2* times in 4 years, So Quantity 2 =4
Quantity 1 > Quantity 2

AT 1-
&THAT o TS 1 AT &7 a7
TS T FEAAT FT AT A: B=1:22=1:4



A ARAT = 1340 = (1+4) x t

t=8 ffee, e wr=T 1 =8

HqTAT 2—

7 8 =23 AT 3 AUt H
219ET 1 7 #

AT 16=2*IAT 4 7T H, o7 WHEAT2 = 4

HTAT 1 > AT 2

Q-42 Question below contains two quantities I and II. Find the values of quantities and mark the appropriate option as your final answer.
eng
In a class of 800 students, 56% students are boys. The average weight of all the boys is 75 kg and that of all the girls is 55 kg.
Quantity I: What is the average weight of class?
Quantity II: If a boy of 80 kg and a girl of 50 kg is added in the class, then what will be the average weight of class?
01. Quantity I > Quantity II 02. Quantity I < Quantity II
03. Quantity I > Quantity II 04. Quantity I < Quantity II
0S. Quantity I = Quantity II or relation can't be
established
Q-42 A frTaUya® ITATATT [T | ATATHA F LIAT HTTAT AT 37 T AT F TIT ITLH €T H 7L Fawew w71 FRrfera w2
hi . . . . .
800 TNt Y FeT H, 56% BT A= 2| Tt A=A A T aw 75 B & ofw @it asfe v awe 55 e )
HTAT L: T T SHrEd oot 7 22
HTAT 1L 3T FeqT H 80 THett 7 AZHT 37T 50 fHert it A2t 1 ST ST 2, AT FeAT 7 S A5 F4T 21002
01. A =TI> |71 02. gEATI< HATI
03. HETI>HETI 04. AEATI<HMETII
05. wT=T (=W 1147 it 98t T s
TehdT
Solution for Question 42 Ans Key: 1
There are 448 boys and 352 girls
Total weight of the girls is 19360 kg
Total weight of the boys is 33600 kg
So the average weight of the class is 66.2 kg
But if the boy and a girl increases the average of their become 65 kg which minimise the whole average.
THH 448 = AT 352 AS(hAT 2
AT T et st 19360 e &
ST FT R q9 33600 Fherrrm &
AT FHEAT T AT asT 66.2 FHFARTH
AT ST AZHT ST AT AT 65 FheAT ToF o ST & ST X 37 7 7 HT 3T 2
Q-43 In each of the following questions, read the given statement and compare the Quantity I and Quantity II on its basis. (Only quantity is to be
g considered)
Quantity 1- A vessel is filled with liquid, 4 parts of which are water and 5 parts syrup. How much of the mixture must be drawn off and replaced with
water so that the mixture may be half water and half syrup?
Quantity 2- An alloy contains Brass, Iron and Zinc in the ratio 2:3:1 and another contains Iron, zinc and lead in the ratio 5:4:3.If equal weights of both
alloys are melted together to form a third alloy, then what will be the part of lead per kg in new alloy?
01. Quantity 1> Quantity 2 02. Quantity 1 < Quantity 2
03. Quantity 1 > Quantity 2 04. Quantity 1 < Quantity 2
05. Quantity 1 = Quantity 2 or Relation can’t be
established
Q-43 AT IAFTd FRTFTHFITT FT 6777 & a8 shTATAT 1 SATATAT 2 FT AT HIT | (FTA ATATHT AT AT )
hi

Quantity 1- TF TT= H T TaT AT g3T &, ForaH 4 e Ot % 3T 5 Red BT & 21 a1 aarsy 38 Heor  fohaer 7 7 91t & aae feam
ST T oTa a1 Arror 7 97t sfT foeT sier - ey g1 S 2

Quantity 2- TF =1 oITq & a1, g 3T IS5 &7 SI4Tq § TAq7 T (97 o7 | Ave, i T o< &7 o1 qu1a g1 Ffe F1 ey anq 7 sra< qraw
H e T FE qraT fs o7 a9T1e S0 aF Sttt 95 7 g § o &7 {1 #971 gR 2

01. |qT=AT1>HATET2 02. HT=AT 1 <HATAT2
03. H=T1>HMET2 04. HTAT 1 <HTAT2
05. HT=T 1 = HTAT 2 I7 qeawe =7 7t



ERUSIE:ERI
Solution for Question 43 Ans Key: 2

eng Quantity 1 —
Suppose the vessel initially contains 9litres of liquid.
Let x litres of this liquid be replaced with water.
(4-(4x/9) +x) = (5-(5x/9))
X =9/10
So, part of the mixture replaced = 9/10 x 1/9 = 1/10 = Quantity 1
Quantity 2 —
In the first alloy,
2:3:1=6 x2
5:4:3 =12
Multiply 2 to make it equal,
4:6:2
5:4:3
Adding all,
4:11:6:3=24
3/24=1/8 = Quantity 2
Quantity 1 < Quantity 2

hi {1 —
AT SIS0 T e § 0% | 9 #fie¥ a3t 2rav &l
TH T & X AL I T & 92 4|
(4-(4x/9) +x) = (5-(5x/9))
X=9/10
ar, fereror 7 fResT aae f2am=9/10 x 1/9 = 1/10 = /=T |
q=T 2 -
EREREREIGE
2:3:1=6 X2
5:4:3=12
FTET HTA & (o0 2 & IO i3 T,
4:6:2
5:4:3
TefT T STrE Y,
4:11:6:3=24
3/24=1/8 = HTAT 2
H=AT 1 <HTEAT 2

Q-44 Question below contains two quantities I and 1. Find the values of quantities and mark the appropriate option as your final answer.

Quantity I: Two trains of length 240 metres and 280 metres are running towards each other on parallel lines at the rate of 84 km/h and 60km/h
respectively. How much time (in seconds) will they take to cross each other from the moment they meet?
Quantity IT: Two trains of length 180 metres and 220 metres are running in same direction on parallel lines at the rate of 90 km/h and 36 km/h
respectively. How much time (in seconds) will they take to cross each other from the moment they meet?

01. Quantity I > Quantity II 02. Quantity I <Quantity II
03. Quantity I > Quantity II 04. Quantity I < Quantity II
05. Quantity I = Quantity II or relation can't be
established
Q-44 A fRTTTTTH ITATATE [ATILE | ATATH 6 LIAT HTIAT AT 3T AU FTIT ITLH T H 7L Fawew w71 e 3
hi
HTAT I: 240 e 377 280 Hiex Y AaTS ATeAT &I o HHT: 84 T / =T 3T 60 TorelT / weT T 3% | A=Y ATe+1 9% UF gAY 67 AT 02 @l
21 F TR % o107 | UH-gEY AT I FA | haer a9 (e /) T
TTAT I 180 HIew ¥ 220 Hiex &7 daTS arelt a1 o waer: 90 forft / =t T 36 et/ wiet &t 3% & a0 ATl 9% U ot faen & =« & 81
F TR F 107 & UH-FHL HI I FA § a1 q80 7 (Fhe 7) 02
01. #=T 1> |9HE=TII 02. #ETI< |qHEATI
03. AETI>|ET I 04. AEATI<HMETII
05. == [=wra 11 faifia 72t frar s
AT
Solution for Question 44 Ans Key: 2
eng 240+280 ..
40
And, lsolﬂ = 26.67sec
hi

3

2404280 _pa



2 .
ﬁt,mol#ﬂs_ﬁ?ﬂm

Passage for Question 45, 46, 47, 48, 49 (ST-2049RRBPOMAINS(21-25M)2020)
eng Passage

Read the following graph carefully to answer the questions

The bar graph given below represents the time taken (in days) by 5 persons individually to finish a work when they work at a certain percentage of their actual
efficiencies that is given in the table.

70

60

50

60
45
432
40
30

30
20
10
0

C D E

&
60% i

Days

Person A

% of actual 1

(=)
(]
|
N
o™
L]
~J
1=

Efficiency

hi Passage

frrguaRE #Tsq19 & ITT AT AT TN FTIATT |

= T T AT ATE 5 ARAT GTRT STl Tt 13 7 T F2  forg 787 (AT 7) 7 39q7aT 2, 516 F qIrRT § ¥ T ST+ ATeaqiaeh &wal & Uh
ffare wfaera 72 #1 F#a g

70
I ' &0
e _ —
50 | 48 __ ©
42
a0 |
E 30
30
20
10
(8]
A B C D E
=T A B C D E
ElIEED 1 1 o 7 1
62— % 57-% 6% 63— % 53— %
GHAT HT % E 7 11 3

Q-45 When all of them work at their actual efficiency, then who will take minimum time to finish the work?
eng

01. D 02. C
03. A 04. B
05. E



Q-45 =z 9t sl aTeaae FALAAT & FTF FL AT qGH FIH [T 7 FI H15 T HIT 2
hi
01. D 02. C
03. A 04. B
05. E
Solution for Question 45 Ans Key: 2
eng Time taken by them with their actual efficiency
r, % %48 =30days. T =i_><42 = 24days. T, =§><30 =18days
Tp= x4 = 28days, TE=% x60 = 32days
Minimum taken by C
hi ITehT ATEA Ik 87T & |19 A, B 3T E g foram mam a9
T2 48 =30 i, Ty-= x42 =24 fe, TE=18__><60 -3 fe
o W 9 C g fora T
Q-46 Time taken by B to do the work is what percent of time taken by A and E together to do the same work (everyone works at their actual efficiency)?
01. 145% 02. 165%
03. 155% 04. 135%
05. 185%
Q-46 BT T ATAT HHT A 3T E FT AT § T AT THT FT 0T % g (TAF SAT<h STIAT ATEA T HIAAHAT H FHTH FdT 8)?
01. 145% 02. 165%
03. 155% 04. 135%
05. 185%
Solution for Question 46 Ans Key: 3
Work done by A and E in one day = T s Sy
30 32 480
Time taken by B and C = ._ilj days
Required o — _ 100 =155
T faT § A ¥ E g ot @ e = ___=_
B 311 C R foram mram wwe = 250 fo
T 0o =131 1001559
30
Q-47 If B, C and D work on a project (with their actual efficiencies) and get a total salary of Rs 4221, then find the share of D?
eng
01. Rs.1134 02. Rs.1085
03. Rs.1875 04. Rs.980
05. Rs.1254
Q-47  3fe B, C 3R D ot el shi 37t areaifereh shreferwaT & 0 sht 31 378 Fel 4221 ¥ ITH &1 ol S0 § D s fed1 r g 2
hi
01. Rs.1134 02. Rs.1085
03. Rs.1875 04. Rs.980
05. Rs.1254
Solution for Question 47 Ans Key: 1
eng Ratio of Time of B,C and D =24:18:28

Ratio of Efficiency of B, C and D = g L P =21:18:28

34 18 28
If they complete the work together in same time then ratio of work is also 21:18:28

an



Q-48

eng

Then share of D= 2= x4221=Rs.1134
67

B, C 31 D o HHY T ST = 24:18:28

B, C 3T D i &waT b1 STl = %;%; ».ig 1:18:28

AT o U W S T WA 0 T A & QT 1 T ST o 21:18:28 ©
ar DEFF%FHT=;_§ x4221=Rs.1134

F takes 25% more time than time taken by B and C together. What is the total time taken by F and A together to finish the work (when each one works at

their actual efficiency)?

01. 5 days 02. 8 days

03. 6 days 04. 9 days

05. 12 days

F %1 B 31T C 3 |1 § &1 TcH A 6 G0T & 25% AT TAT 90T 21 a1 F 3T A 719 | F1 fohaet F&o1 § QT F (T SA<h Ot AT 19
FTHATIT F HTH FAT )2

01. 5 days 02. g days

03. 6 days 04. 9 days

05. 12 days

Solution for Question 48

Q-49

eng

Work done by B and C in one day = _ + _ =

Time taken by B and C =_Z days

> i d days

Time taken by F = -
Work done by F and A in one day = ‘_ + ‘_ = _
Time taken by F and A =9 days

T fT 6 B 3 C g fop mm e = L

~ A -

B 37T C g foram e @9 = 12 days
Fam foram e ama = 2, 72229 qays

@Eﬁ?ﬁFWAW%ﬁ&TWW*%_%:%
F 3R AT o mn ey =9 feq -

What is the time taken by A, B and E together to finish the work when they work at their actual efticiency?

01. 6; days 02. Tidays
17 17
03. 7 days 04. o7
17 17
05. None of these
A, B 3T E 713 stoft areafass srdersar & w1 &< qr dir a1 § w1 fhae G110 8§ @ w3

01. 6; days 02. _;days
17 T
03. 7 04, 7
S._days 9L
17 17
05. zerir i S Y

Solution for Question 49

eng

Time taken by A,B and E with their actual efficiency

J‘_’A%x—lS:}Oda}s:Zﬁ. :ix—ll: Mdavs T :li_x 60=32davs

Ans Key: 4

Ans Key: 4



Work done by A,B and E in one day=—+_—+ - 2"
30 24 32 160
Required time taken= 1;5__0 =9 1—_ days

hi IAHT ATET (A TEAT & a1 A, B 3% E grar foram am g9
1’_4§><48=30ﬁ:f, T,=2x43-24 fF, TE=1—S_><6EJ= =32 f=
T RAT A, BREg e L L 117
30 24 32 160
foram mam enfre v - 112 =9 1_ &
Q-50 Each of the questions below consists of a question and two or three statements numbered I and II or L, II and III given below it. You have to
eng decide whether the data provided in the statements are sufficient to answer the question. Read both the statements and give answer:
What is the length of the train X?
I. Two trains X and Y running in opposite directions and cross each other in 25 seconds.
IL. The length of the train Y is 320m and the difference between the speeds of trains X and Y is 14 km/h.
II1. The ratio of the speed of the trains is 19 : 26.
01. OnlylandII 02. Only Il and III
03. OnlyIandIII 04. None of these
05. All of these
Q-50 FARTATTAFITNAT CHFITRIIAITAAFITIATUIATL HSHTMFETTITE | ATFT T TT FIATEIT I w977 & frgagar
TARTITLIA F TACIATH§ ITAL | ST ITATAT HAATHT AL AMTIALR:
L. 37 24 X 37 Y faodia feemsti & =raat g oY 25 §he § UF AL Al 77 FLdl gl
11 29 Y &7 <aTg 320 Hiax g 3fiT o X ¥ Y &Y i & 1= &7 3ia< 14 FohdT/ =21 21
I1L 7 T ITfa 7 0T 19: 26 2
01. FaaT [ 1l 02. Fae I1 AT III
03. et [ =¥ I 04. ZH T AT Tl
05. I =iy
Solution for Question 50 Ans Key: 5
All of these
hi T 74T
Q-51 Each of the questions below consists of a question and two or three statements numbered I and II or I, II and III given below it. You have to
decide whether the data provided in the statements are sufficient to answer the question. Read both the statements and give answer:
What is the marked price of the shirt?
i. A shopkeeper purchases 2 shirts for 2200 Rs. and earns 55 Rs. per shirt after giving 23% discount.
II. A shopkeeper marks the price 36% more than the cost price and earns 200 Rs. after giving some discount.
01. OnlyI 02. OnlyIl
03. BothIand II together 04. EitherIorII
05. Neither I nor IT
Q-51 FARTITTTAFITIR CHFIT AT ITATFITINTAIATL M ATMIFITTTE | MTHT TZ TT FIATEIT o w99 & fFygarg e
hi T FTITLIA F g aata § 1 T AT FITT H1 92 ATIAR:
FUE T iR T FT 82
1. T3 AR 2200 F0F § 2 FIE GLEAT & 3T 23% T < F 18 T FIL 55 F ATH rord el gl
I1. T THET AN ToF & 36% ATEF 3h1d o7 T@ar ¢ ¥ F{E B & & 18 200 T3 FATAT g
01. Faerl 02. et Il
03. [ 3f< I <9I U 91X 04, FTarIaATI
05. FATISATAL
Solution for Question 51 Ans Key: 1
eng Only I is sufficient
hi HAA UEEAT UATH &



Q-52

eng

Each of the questions below consists of a question and two or three statements numbered I and II or L, II and III given below it. You have to
decide whether the data provided in the statements are sufficient to answer the question. Read both the statements and give answer:

What is the present age of Ashish?

I. Ashish is 4 years younger than Akash. The ratio of the age of Akash and Aman is 4: 5.
II. Aman is 1 year older than Ashish and the present age of Akash is 20 years.

II1. The present age of Ashish is 5 years less than the age of Mohan who is of 25 years.

01. OnlyI 02. OnlyIl
03. Only III 04. None of these
05. Only Il and IIT

TR AT TT T AR TT R CHFIT AT ITATFITIF TN ITL M ST FETTT R sTTRT T 7T FIATZT 3 vy & fegarg ey

TFFTITLIA F g aata § T T AT AFT 9T H1 92 AT

el Y FdATT Sy AT 82

1. SefTT STRTET & 4 | ST &1 SHTET ST STHA T 3T T AT 4: 5 5
1L 379 SefT & 1§11 927 8 ST AHT9r T w1 39 20 71 g

TI1. TR =T ST 3 Hige it o 8 5 a9 7 2l

01, FFe71 02. FFer 11
03. Faer I 04. =H A FIT A1
05. FaaT 1 3fT I

Solution for Question 52

Any two is sufficient
=1 off A e &

Passage for Question 53, 54, 55, 56, 57 (ST-2049RRBPOMAINS(31-35M)2020)
eng Passage

Study the following bar and line graph and answer the questions given below.

Time (in hours)

TIME TAKEN TO TRAVEL(in hours) BY FIVE VEHICLES ON TWO
DIFFERENT DAYS

18 18

16 15

——
'd 12 12
12 ! . | | gms!

=
m
m
o
m

Day 1l

= Day 2

Distance [in kilometre)

DISTANCE COVERED (IN KILOMETERES) BY FIVE VEHICLES
350

- i ™

200

150

100

50

Ans Key: 4




=—f=—Day 1 180 180 256 306 221
=ii—Day 2 156 324 160 135 121

hi Passage
frggudeshTRErg s @ #71 a7 § IFGF AT @ T AT F7 ;a9 A2

o TafeT areal R0 &7 3197-37a0T f&at Irar arar a3 &
o9 AT (g2 #)
0
138 18
18 +
i6
16 15 e
i4 e o
£, | 12 12 -
.’g 10
= 10 A g | g
E 8 - L | - . i Day 2
5 - 2 I— : I
: i B C D E
UT arget &1 9 Bt I g ¥ (fematr 3)
350
300
— 250 l ~ .
o .
E 200 ;
— 150
- A B E D E
- 180 180 356 306 221
'.F?',? 2 156 324 160 135 121

Q-53 The distance travelled by Vehicle E (both days included) is what percent less (approx.) than the distance travelled by vehicle B (both days included)?

eng

01. 18:13 02. 13:18
03. 15:11 04. 11:15
05. None of these

Q-53 e B g =t 18 gl (&1 fe ), AT B g1 <fett 78 g8 (G fot )& e fehe gfererer s & 2

01. 18:13 02. 13:18

03. 15:11 04. 11:15

05. =77 FH1E Tor
Solution for Question 53 Ans Key: 3
eng 180/12: 121/11 =15:11
hi 180/12: 121/11 =15:11

Q-54 What is the difference between the speed of Vehicle D on day 1 and speed of Vehicle E on day 2?
eng



01. 3km/h
03. 4km/Mh

05. None of these

02. 5kmh
04. 6km/h

Q-54 e D o1 e fo S =Tt E ol e fot =iret # fefcm et & 2
hi
01. 3km/h 02. 5km/
03. 4km/h 04. 6km/
05. =z & A T
Solution for Question 54 Ans Key: 4
eng 17-11 =6 km/h
hi 17-11 = 6 Trefi/eer
Q-55 The distance travelled by Vehicle E (both days included) is what percent less (approx.) than the distance travelled by vehicle B (both days included)?
eng
01. 47% 02. 45%
03. 32% 04. 38%
05. None of these
Q-55  ame E gy =ell € g (I B ), A B g =el) € g (I R )& et e e 9 g 2

01. 47%
03. 32%

05. =H T FIS A5

02. 45%
04. 38%

Solution for Question 55 Ans Key: 3
Total Distance by E= 342km; Total distance by B= 504km
%=(504-342)/504x100=32.14%

E 3T % T = 342 FHT; B 3T & g20= 504 =T
%=(504-342)/504x100=32.14%

Q-56 Which vehicle travelled at the same speed on both the days?
01. A 02. B
03. C 04. D
05. E

Q-56 T ATATEA AT {&F THT AT F ATAT FTTZTE ?

01. A 02. B
03. C 4. D
05. E
Solution for Question 56 Ans Key: 3
eng Day | Day 2
Vehicle Distance Time Speed Distance Time Speed
A 180 15 12 156 12 13
B 180 12 15 324 18 18
C 256 16 16 160 10 16
D 306 18 17 135 9 15
E 221 17 13 121 11 11
hi fa 1 fa 2
A 180 15 12 156 12 13
B 180 12 15 324 18 18
C 256 16 16 160 10 16



aF =t WS 1= v LR -

E 221 17 13 121 11 11

Q-57 What is the speed of vehicle B on day 2 in meter per second?
eng

01. 1m/s 02. 2m/s
03. 3m/s 04. 4m/s
05. None of these

Q-57 e B i gt et 1 <t ste st s 4 7 G 2

hi
01. 1mss 02. 2m/s
03. 3m/s 04. 4m/s
05. =iy & 78 T
Solution for Question 57 Ans Key: 5
eng Speed in km/h = 18 km/h; in m/s = 18%5/18 =5 m/s
hi foret/ere ot = 18 frefi/ae ; {/a & = 18x5/18 =5 #i/A

[ Passage for Question 58, 59, 60, 61, 62 (ST-2049RRBPOMAINS(26-30M)2020) [
eng Passage

Read the following information carefully to answer the questions

Rohit have some articles which are in the form of different structures. These are cylindrical, conical, and spherical. Other than solid conical structure, all two are of
both types i.e., hollow as well as solid.

Volume of a conical article is three times of the volume of a solid cylindrical article while radius of a solid spherical article is half than that the radius of a conical
article. Outer radius of hollow cylindrical article is same as radius of solid spherical article while average of outer radius and inner radius of hollow cylindrical article
is equal to radius of solid cylindrical article. Height of cylindrical, conical and hollow cylindrical article is same i.e. 14cm

Number of solid spherical article is 1/5 of total number of article Rohit have. Number of hollow spherical article is 150% more than number of conical article. Ratio
between numbers of solid cylindrical article to number of conical article is 3:2. Total number of hollow cylindrical article is 40% of total numbers of article Rohit have
and also ‘20’ more than the total number of solid spherical article Rohit have. Volume of a hollow spherical article is 33,957 cm? whose inner radius is half of its
outer radius. Volume of a hollow spherical article is 5.25 time of volume of conical article.

hi Passage

[FTEEATTRTO FT ATTE T8 AT T TATHTTATT I

TR o T g TEq0, ST ST SHT 61 &, ST 0T SATTHIL, ATHARIL ST AT FT g ATHARIL A€ il BIS F ATHN AT T80 S1E AT Gr@et =t
2l

QTTRARTE A T AT ST TAATHIE ] & ATAAT % AL §| STATh 31 TATHRIT T 01 [59AT ATHARTE T 0T (5947 T AT §| FrEet aof &t
gt s 3 Mot it o & J2rew g1 Sath Grae SaTRIy aeq 6l A T aTgdt Bear 7 $f6d 319 JA=T1Hh a6 & a¥ay gl aAqqrHh,
STTFAFTT 3T GG TAATHIT A€ T IATS FTET g ST AT 14 T |

ZIE TTATHTE FEIA T TCAT, TR o T Fel AT HT 1/5 F| G TATHTE TEAT 0T TEAT ATHaHTT TEGA I 150% STTEF 1 ST TATTHT TeqaAr i
HEAT ST THATIT TEQAT 01 ST FHT ATATT 3:2 Bl GG TATTHE TEGAT 1 AT T 6 T TEGAT 1 H@AT HT 40% & 37T T 316 TAT FT TeqaAT 9
20 AATer g1 G TIATHRIT FEG FT AT 33,957 FHT g et safva Broar argdt Bream & sneht 81 @rer MeTeTe a8q 7 $aa=, eriwashTe aeq F
AT FT 5.25 TAT &

Q-58  Volume of one hollow cylindrical article is how much more then volume of one cylindrical article?
eng

01. 4312 cm3 02. 6468 cm3
03. 2696 cm3 04. 2156 cm3
05. 1075 cm3

Q-58 T WrE ST I T ST, T SeHTehT o] ¢ fohdT 1o 22

hi
01. 4312973 02. 6468 FHT3
03. 2696 T3 04. 215613
05. 1075513

Solution for Question 58 Ans Key: 4




eng Volume of one hollow cylindrical article = tx14x(10.52 - 3.5%) = 4312
Required difference = 4312 — 2156 = 2156cm?*

hi T GIE SAATHIT € T AT = wx 14x(10.5% - 3.52) = 4312
T qT = 4312 — 2156 = 2156 TP

Q-59  Find the curved surface area of one hollow cylindrical article?

eng
01. 661 cm3 02. 1232 ¢m3
03. 826 cm3 04. 521 cm3
05. 1016 cm3
Q-59  EEe SAATHIT aE] HT A0 TS FT SARA AT FL 2
hi
01. 661 cm3 02. 1232 ¢m3
03. 826 cm3 04. 521 cm3
05. 1016 cm3
Solution for Question 59 Ans Key: 2
eng Curved surface area of one hollow cylindrical article = 27x (3.5+10.5)x14=1232cm?
T GG TAATRIT TEG T o SAFA = 271% (3.5+10.5)x14=1232 FHI2
Q-60 Find the ratio between outer radius of hollow spherical article to radius of solid cylindrical article?
01. 5:1 02. 23
03. 3:1 04. 3:4
05. 2:5

Q-60  FTE TATHT aw] T AT 3T STH TAATHRIT TEG T AT HT SATITT AT F2T 2

01. 5:1 02. 23
03. 3:1 04. 3:4
05. 2:5
Solution for Question 60 Ans Key: 3

Required Ratio = 21:7 = 3:1
AGIET a1 = 21:7 = 3:1

Q-61 Find the total space taken by all solid spherical articles?

01. 97020 cm3 02. 4851 cm3
03. 52767 cm3 04. 34653 cm3
05. 2625 cm3
Q-61 T 319 MATHT T&G H[A Fhael ST =t & ?
hi
01. 97020 cm3 02. 4851 cm3
03. 52767 cm3 04. 34653 cm3
05. 2625 cm3
Solution for Question 61 Ans Key: 1
eng Space taken by one solid spherical article = Volume of one solid spherical article

N 1(10.5)3=4851cm?

Total space taken by solid spherical articles = 20%485 1=97020¢cm’
hi T STE AR TEG FTT 3T TAT T = UF ST TATHL aeq HT AT
- % 1(10.5)3= 4851 &Y

ZIE AT @l gT=T oA 37 /et T = 20x4851=97020 &3




Q-62

Find the numbers of conical article Rohit have?

eng
01. 12 02. 20
03. 40 04. 10
05. 8
Q-62  TRT F TTH SIFTATHIT ] Hl HEAT AT FT ?
hi
01. 12 02. 20
03. 40 04. 10
05. 8
Solution for Question 62 Ans Key: 5
eng Number of conical article Rohit have = 8
hi TTed o SfhTe] AT T AT = 8
Q-63 Mukesh purchased 10 bicycles, all at the same price. He sold six of these at a profit of 25% and the remaining four at a loss of 25%. If he made a total
eng profit of Rs. 2000, then his purchase price of a bicycle?
01. 8000Rs 02. 6000Rs
03. 4000Rs 04. 2000Rs
05. None of these
Q-63  THer 10 ATETReT W E1 HA U7 @EEAT 21 T8 TTH | 6 % 25% *F ATH T AT ATHT 4 AT 25% 1 T T2 9 1 T2 /1< H IH 2000 T HT 19
BRI T T ATSThed ol s Hd AT g 2
01. 8000Rs 02. 6000Rs
03. 4000Rs 04. 2000Rs
05. =i FATE A
Solution for Question 63 Ans Key: 3
Let the cost of each bicycle be x.
From the given condition: 10x+2000=6%1.25x+4%0.75x
[= x=4000Rs
Tk HTE el T STRTT X 8l
From the given condition: 10x+2000=6x1.25x+4%0.75x
[= x=4000Rs
Q-64 At their usual efficiency levels, A and B together finish a task in 12 days. If A had worked half as efficiently as she usually does, and B had worked thrice as
efficiently as he usually does, the task would have been completed in 9 days. How many days would A take to finish the task if she works alone at her usual
efficiency?
01. 24days 02. 18days
03. 12days 04. 36days
05. None of these
Q-64 AT B T HIELAHAT & 12 A7 H FF FTHIT SHT A g AT A T FIEAGFHAT % ST < B O FIEEGHAT % 17 7 F FT4 F< a9 ag a19
hi H 9 AT H Tl T HEAN AT AATSH A SHAT O] FIAEHAT & FHT T hael THT 7 T HT?
01. 24days 02. 18days
03. 12days 04. 36days
05. =8 q FIE AT
Solution for Question 64 Ans Key: 2
eng Let the work be LCM of (9 and 12) = 36 units.

Let the amount of work done in one day with their normal efficiencies by A and B be x and y units respectively.
Therefore, (x+y) X12=36

Orx+y=3...(1)

Similarly,

(x/2+3y)x9=36

Orx/2+3y=4 ... (2)

Solving (1) and (2) for x, we get x =2 units

Hence, A alone would take 36/x = 36/2 = 18 days to complete the work with her normal efficiency



hi AT 1 = (9 AT 12) T LCM= 36 THTS
ATET A 37T B 51T 3T STHT &7 HAT o A1 U (o § Fh0 70 13 7 977 597 x 3T y THh1eat 2il
a4, (x+y) x12=36
Jrx+ty=3 ... (1)
ZHT T,
(x/2+3y)x9=36
I x2 3y =4...(2)
(1) TAT (2) T T FA IL x =2 THTS
AT A T 36/x = 36/2 = 18 T =T X &1 FT 0 FAd

Q-65 Meena scores 40% in an examination and after review, even though her score is increased by 50%, she fails by 35 marks. If her post-review score is

eng increased by 20%, she will have 7 marks more than the passing score. Find the percentage score needed for passing the examination?
01. 70% 02. 60%
03. 75% 04. 80%

05. None of these
Q-65 AT UF TEHEAT H 40% T T FAT § 3T : AT F arg 39 307 50% T S 2 A1 oft 7 35 sty & it gr et g1 7’y e Afveor §
hi I 3 20% T STT T A IO 30T & 7 3 AFAF ITH FT 07 G7 TAT5T 3T TLHAT KT 3T A2 % {orw fwaer wfaera i s&ea grir

01. 70% 02. 60%
03. 75% 04. 80%
05. =oH I IS 75T
Solution for Question 65 Ans Key: 1

Let the total score of the exam be 100 x.

Meena’s before review = 40% of 100x = 40x.

Her score after review = 40x + 50%o0f 40x = 60x.

Passing marks = 60x+35. .. (1)

Her score after increasing it by 20% of post review score = 60x+20% of 60x = 72x
Passing marks = 72x-7. ... (2)

Equating (1) and (2)

72x-7 = 60x + 35

=x=3.5

Hence, Total Marks = 100x= 350 and passing marks = 60x+35 = 245

=~ % 100="70%

350

Therefore, passing percentage =

HTAT Fo TL8AT T /T 3% 100 x &l

HYHT ot FHTET T T8t = 40% of 100x = 40x.

FHTT 3 TG SERT 375 = 40x + 50%o0f 40x = 60x.

I & = 60x+35. .. (1)

THTEAT o FhTL 36 20% T T&T F 972 IHHT Th1T = 60x+20% of 60x = 72x
AT 37 = 72x-7. ... (2)

(1) T (2) FT FITET FXA TT

72x-7 = 60x + 35

=x=3.5

AT, /e 317 = 100x= 350 3f¥ IO 3 = 60x+35 = 245
245

a:ermwﬁnfsr%m:j—fé «100=70%

Q-66 Study the following information and answer the following questions:

eng
A bunch of 10 bulbs contains 4 defective ones. Two bulbs are selected at random from the bunch. Out of 10, 6 are red colour and 3 are red colour
defective bulbs.
What is the probability that —
Red colour bulb but No one is defective?
01. 112 02. 1/60
03. 1/15 04. 2/25
05. 1/3
Q-66 FTAZTATTFRTAFIIL ALY TT T FTTATT I
hi

10 99 3 UF Tool | 4 G Iod g1 37 oo F foheal 2 Tod HI AT SATAT g1 37 10 T § F 6 AT aod g (o8 3 T g1 T 73 STiarhar sa
EnIERT

FAT ATA [ F BT AT &S AT @ Tl



01. 12 02. 1/60
03. 1/15 04. 2/25
05. 1/3

Solution for Question 66 Ans Key: 3

eng

hi

Q-67

eng

Required probability =
=3/10 x 2/9=1/15

e gTfreRdT =
=3/10 x 2/9 = 1/15

A chemist mixes two liquids 1 and 2. One litre of liquid 1 weighs 1 kg and one litre of liquid 2 weighs 800 gm. If half litre of the mixture weighs 480 gm,
then find the percentage of liquid 1 in the mixture?

01. 85% 02. 70%
03. 75% 04. 80%

05. None of these /
TF TEHTIAS &7 a0 Tard A TT B &1 foerar 21 7fw 1 e A #7912 1 7T srafs B &7 91% 800 9T 81 {3 swer sfex frsror &1 97 480 9w 2,
v freror § aver A fraw afdera 2 2

01. 85% 02. 70%
03. 75% 04. 80%
05. =H q F1E 72T

Solution for Question 67 Ans Key: 4

Q-68

1000 800
960
160 40 = 41

percentage of liquid 1 == =802

1000 800
960
160 40 = 4
T 1 ?TF‘J‘T’?TDHZ_‘:_. =80%

If two shopkeeper claims a profit of 25% on same goods but one on the cost price and other on selling price , and the difference in their profit earned by
them is 100rs. Then find the cost price of cheaper article if selling price is same for both?

01. 1600 Rs 02. 2000 Rs
03. 2500 Rs 04. 2400 Rs

05. None of these
ZT THTRTT AT TG T 25% o AT T ITAT T &, g SAH & U ST ATH HAeT T2 TAT THL AT T2 39T § ST a1 &6 ard §
ST 100 % T 2TAT 2| T HEAT A€ T HAHST FIT 21T STa1h a1 1 (AT HqeT THHE 8 2

01. 1600 Rs 02. 2000 Rs
03. 2500 Rs 04. 2400 Rs
05. zrir i S

Solution for Question 68 Ans Key: 1

eng

Shopkeeper 1 Shopkeeper 2
SPIICP1 SP2: CP2
125:100 100:80
5:4 4:5
SP] = SP2

Then
5:4 x4 4:5%5
SPIZCP1 SP2: CP2
20:16 20:25
Ratio P1:4 P2 =5
Difference in ratio of profit = difference in profit

Ratio 1 = 100Rs



CP of cheaper article = 16 X100 = 1600 Rs

TR 1 TR 2
SP15CP1 SP25 CP2
125:100 100:80
5:4 4:5

SPI = SP2
ar

5:4 x4 4:5%5

SP;:CP, SP,: CP,
20:16 20:25

SAJITT P=4 P,=5

T oh ST H AT = AT e
I 1 = 100Rs

&1 TEG BT CP = 16 x100 = 1600 Rs

Q-69

eng

Q-69

Study the following information and answer the following questions:

A bunch of 10 bulbs contains 4 defective ones. Two bulbs are selected at random from the bunch. Out of 10, 6 are red colour and 3 are red colour
defective bulbs.
What is the probability that —

One is red colour defective and other is other colour non defective

01. 3/5 02. 2/5
03. 13 04. 2/3

05. 1/10
AT FTIL AT TT AT FTAATT R

0TI F TH T A 4@UTICT ¢ | ST T § R 2 Teq FT AT ATATRI ST L0 TG § & 6 ATA 909 ¢ PR 3@ura g1 as e
EURETIEIcE IS e

T ATA 7 HT @G Fod 2l Tath g gL T T =1 aed gl

01. 3/5 02. 2/5
03. 13 04. 2/3
05. 1/10

Solution for Question 69 Ans Key: 5

Required probability =
=3/10x3/9
=1/10

T ITHhdT =
=3/10 % 3/9
=1/10

Q-70

eng

Q-70
hi

There is 459 students in a hostel. If the number of students increased by 36, the expenses of the mess increased by Rs .81 per day while the average
expenditure per head reduced by 1. Find the original expenditure of the mess?

01. 7304 02. 7314
03. 7334 04. 7344

05. none of these
TF FIEATETE § HA 459 T g1 Tfe Frat £ T=am 36 9 T 3fT TS &7 @+ 81 €% F 9 70 aF I =776 @< | €097 FT9 g1 ST qv
AISATAT FT ATEATAH T FAT g 2

01. 7304 02. 7314
03. 7334 04. 7344
05. T & FrE AR

Solution for Question 70 Ans Key: 4

eng

Total expenditure = 459x
36 students joined then total expenditure = 459x+81
Average = 459x+81/495 = x-1



x=16
Original expenditure = 16x459 = 7344

hi A TH = 459x

36 T AT gU Al T @+ | = 459x+81

A= 459x+81/495 = x-1

x=16

T =T = 16x459 = 7344
Q-71 A train starts running from station A at 11am and reaches station B at 3pm while another start running from station B at 1pm and reaches at 4:30pm. At
eng what time will they meet?

01. 1:30 pm 02. 1:14pm

03. 1:56 pm 04. 1:48 pm

05. None of these
Q-71  TH I EAT AT Hag 11 o (Aiefdll § A ¥291 B U7 TG 3 o5 TEAT € STef{eh Uoh FoET 37 B T H FIUT | o feherell & T #2907 A
hi T IITET 4:30 a7 TgAAT 52

01. 1:30 pm 02. 1:14pm

03. 1:56 pm 04. 1:48 pm

05. e & 7S Y

Solution for Question 71

Q-72

Q-72
hi

Let total distance be 14km

Then speed of 1st train is 28/4 = 7km/h

Speed of 2nd train is 28/3.5 = 8km/h

Ist train started at 11am then it travels 7x2 =14km till 1pm
Then remaining distance= 28-14 = 14km

Now time taken to both train to meet = Remaining distance/ relative speed

Relative speed = 7+8=15km/h
Time= 14/15h or (14/15) 60 = 56 min
Then they will meet at 1:56pm

AT % 37 14 Tl 8

TORT ageft o1 ot T & 28/4 = 7 TehRwi/a
AL A AT i g 28/ 3.5 = 8 fHHI/AE

TEAT o qag 11 F57 F g3 3T e Tg ATAT & g2 7x2 =1 a5 a= 14 Fey

e oo g7 = 28-14 = 14 Y

99 AT T A o forg g f3m 2 = o9 g3/ |raer afa
ey T = 7+8=15 FEfi/ee

TET=14/15h or (14/15) x60 = 56 &=

o =T 1:56 a1 foei

Ans Key: 2

A man covered a certain distance at some speed. If he increases his speed by 4km/h then he would have reached 9/2 min early then usual time. If he

decreased his speed by 6 km/h then he had reached 8 min late. Find the original distance?

01. 60 km 02. 54km
03. 64 km 04. 72 km
05. None of these

T AT F gL T a0 § T Far g AT 3aer =71 4 Tl s & a2 iy 1 9 fFaa 997 § 9/2 e 9get €1 989 S| JE1 a8 oy

1A 6 o1/ = T =1 F oeT o qr ag 8 THefe &t 33 & ag=rm a1 a8 g 1 H4?

01. 60 feft 02. 54 3t
03. 64 fefy 04. 72 foefy
05. =i 1S TE

Solution for Question 72

Ans Key: 4

eng

Original speed = S

9
Speed after increment S; = S+4 km/h then timeT; =7~ 75

h

60

Speed after decrement S, = S-6 kmv/h then time T, = i h
50

Thenbytn'ckSlzszz'4x£:;’5xi:
Looen )L 2x60)



S1:S,=32:27
S ratio =10km/h (difference in ratio = difference in speed)
1 ratio = 2km/h
Then S|= 32x2 = 64km/h and S, =27%2 = 54km/h
Distance = S;x S,/( S;- S,) xdifference in time
Difference in time = 8+9/2 min = 25/2min = 25/120 min
D = 64x54/(64-54) x25/120 =72 km

hi qA A =S
9
G F AR A S = S+4 PRfisz e T1= 775
60
FAFAEAMS, = 56 BefiEr dram T2 =75,
60
o~ S '.l ~ 9
SiSo= | 45— || 65— |
e 50\ )
S1:S2 =32:27
5 ST =10 fRefi/ere (Tfa T 3% = difference in speed)
1 s = 2 Frefiyee
qT S = 32x2 = 64 THRHT/EE 3T S, =27x2 = 54 Torei/aiT
A= S % Sy/(S}- Sy) XTFT FT AT
T H (a7 = 8+9/2 ez = 25/2 ez = 25/120 faee
D = 64x54/(64-54) x25/120 =72 Faeft
Q-73 what approximate value should come in place of question mark in the following questions? (You are not expected to calculate the exact value).
01. 381 02. 283
03. 274 04. 271
05. 254
Q-73 o forfa weit & werfree 3 T 9% 707 7 SIAT W9 AT AL (SIS TETH AW e 7 Ted 781 )
01. 381 02. 283
03. 274 04. 271
05. 254
Solution for Question 73 Ans Key: 2
B 2% 2% Zx%3719~ 283
Va5
Q-74 what approximate value should come in place of question mark in the following questions? (You are not expected to calculate the exact
eng value).
459% of 849.947 + 266% of 6284.012 - 1486.002 =?
01. 20330 02. 12640
03. 15000 04. 22160
05. 19130
Q-74  forw ffad wait & wrfeg % ST TTHTT T ALATI ATT AT ATIR QN (STTHT ETF AT e FTTe@ A1 8)
hi

459% of 849.947 +266% of 6284.012 - 1486.002 =?

01. 20330 02. 12640
03. 15000 04. 22160
05. 19130

Solution for Question 74 Ans Key: 5



eng 459% of 849.947 +266% of 6284.012 - 1486.002
~ (460/100) x850+ (266/100)x6280 - 1486
~19128=19130

hi 459% of 849.947 + 266% of 6284.012 - 1486.002
~ (460/100) x850+ (266/100)%6280 - 1486
~19128=19130

Q-75 what approximate value should come in place of question mark in the following questions? (You are not expected to calculate the exact
eng value).

564.666 + 82.5091 x 44.581 - 34.111=?

01. 28450 02. 4220
03. 4000 04. 1600
05. 14225

Q-75  fow forfRaa woat & wogf=reg & =919 TTHTOT QT SICATI AT AT ATRYN (GUIFHT GEF AT AFwaa F1 Te@ T R)
hi

564.666 + 82.5091 x 44.581 - 34.111=?

01. 28450 02. 4220
03. 4000 04. 1600
05. 14225
Solution for Question 75 Ans Key: 2

564.666 + 82.5091 x 44.581 - 34.111
~ 565+82 x 45 -34
~4221=4220

564.666 + 82.5091 x 44.581 - 34.111
=~ 565+82 x 45 - 34
~4221=4220

Q-76 In the following number series only one number is wrong. Find out the wrong number.

18.3, 20.6, 16, 22.9, 13.7, 24.2, 11.4

01. 242 02. 183
03. 13.7 04. 229
05. 20.6

Q-76 FafafETdATHEATH FIA TF ACATET TAT §, TGT TAT G &IT AT FL|

18.3, 20.6, 16, 22.9, 13.7, 24.2, 114

01. 242 02. 183
03. 13.7 04. 229
05. 20.6
Solution for Question 76 Ans Key: 1

eng 18.3 +2.3=20.6
20.6-4.6=16
16 +6.9=229
229-92=13.7
13.7+11.5=25.2
252-13.8=114

hi 18.3 +2.3 =20.6
20.6-4.6=16
16 +6.9=229
229-92=137
13.7+11.5=25.2
252-138=114

Q-77 In the following number series only one number is wrong. Find out the wrong number.

eng
-9, -15, -49, -192, -961, -5759



Q-77
hi

01. -5759 02. -961
03. -192 04. -49

05. -15
frafafaa dear ST d $99 TF G771 &1 199 &, T&T Tq &qT q1q FL|

-9, -15, -49, -192, -961, -5759

01. -5759 02. -961
03. -192 04. _49
05. -15
Solution for Question 77 Ans Key: 3
eng (-9%x2)+3=-15
(-15%x3)—4=-49
(-49 x 4) + 5 =-191
(-191 x 5)— 6 =-961
(-961 x 6) + 7 =-5759
hi (-9x2)+3=-15
(-15%x3)—4=-49
(-49 x 4) + 5 =-191
(-191 x5) - 6=-961
(-961 % 6) + 7 = -5759
Q-78 In the following number series only one number is wrong. Find out the wrong number.
2, 4, 11, 37, 151, 771, 4633
01. 11 02. 4633
03. 771 04. 151
05. 2
Q-78 fAwfufagdear gE@aT® Fa9 UF G&qT & TAT &, TE TAT FIT ATA FI|
2, 4, 11, 37, 151, 771, 4633
01. 11 02. 4633
03. 771 04. 151
05. 2
Solution for Question 78 Ans Key: 4

2x1+2=4

4 x24+3=11
11x3+4=37
37x4+5=153
153x5+6=771
771 x 6 +7=4633

2x1+2=4
4x2+3=11
11x3+4=37
37x4+5=153
153 x5+6=771
771 x 6 +7=4633

Q-79

eng

Q-79

In the following number series only one number is wrong. Find out the wrong number.

2442, 1222, 614, 312, 163, 90, 55.75

01. 1222 02. 312
03. 90 04. 614

05. 163
fafarfya dear gEaT § 97 TF G&IT & 19T §, T8 Toq AT AT HL|

2442, 1222, 614, 312, 163, 90, 55.75



01. 1222 02. 312
03. 90 04. 614
05. 163

Solution for Question 79

Ans Key: 3

eng

2442/2 +1=1222
1222/2 +3=614
614/2+5=312
312/2 +7=163
163/2+9=289.5
89.5/2+11=155.75

2442/2 +1=1222
1222/2 +3=614
614/2+5=312
312/2 +7=163
163/2+9=289.5
89.5/2 + 11 =55.75

Q-80

eng

Q-80

In the following number series only one number is wrong. Find out the wrong number.

188, 154, 140, 132, 128, 126, 125

01. 125 02. 154
03. 132 04. 126

05. 188
Aafafag dear faaT § 99 v a1 &7 AT &, TE TAT GIT ATT F I

188, 154, 140, 132, 128, 126, 125

01. 125 02. 154
03. 132 04. 126
05. 188

Solution for Question 80

186 —32 =154
154 - 16 = 140
140 - 8 =132
132 -4 =128
128 -2=126
126 - 1=125

186 —32 =154
154 - 16 =140
140 - 8 =132
132 -4=128
128 -2 =126
126 - 1 =125

Ans Key: 5

Q-81

eng

Arunawati Dam is situated in-

01. Odisha 02. Tamil Nadu
03. Maharashtra 04. Gujarat

05. Karnataka
FEUTET ater o 8-

01. sqfer 02. FfEA=ETS

03. weTTTZ 04. mETETE
05. FATaH

Solution for Question 81

Ans Key: 3

eng

Arunavati Dam is an earthfill and gravity dam on Arunavati river near Digras in Yavatmal district of state of Maharashtra in India.

hi

SFEUAT AT AT H AGTY T5T & TATHTA {orel H SUTH % qT6 STROMET 9l 92 a7 U THT ST [Eea 1yl are gl




Q-82

eng

Masters cup is associated with which of the following Game?

01. Badminton 02. Cricket
03. Golf 04. Hockey

05. None of these
aTeed 0 Mwterfea § & fr oo 7 "@afaa 82

01. FefifeT 02. Frae
03. Trew 04. Y
05. =18 & #1E T

Solution for Question 82

Ans Key: 3

eng The Masters Tournament (usually referred to as simply The Masters, or the U.S. Masters outside of North America) is one of the four major
championships in professional golf.
hi ATEEH ZATHE (THATE T7 a9 ATEEH IT I STHIAHT & AT8Y STHT ATEH & &7 § HaHq) a7 Mok § A1 THE 3031909 § § TF g
Q-83 INDRA is a Joint tri military exercise between India and which country?
eng
01. France 02. Russia
03. USA 04. China
0S. Myanmar
Q-83  INDRA 9T Si1¥ e 391 % &= U H<h B I0i &7 7T 22

01. wme 02. =9
03. Tk T SAHTAHT 04. ==
05. =H™

Solution for Question 83

Q-84

Q-84

INDRA is a joint, bi-annual military exercise conducted by India and Russia starting in 2003.

INDRA R 3% & gRT 2003 F I[& foram T U w3yeh, f3-anfifer &= 1emer 2

‘Kuchipudi, a classical dance is related to which state?

01.  Andhra Pradesh 02. Karnataka
03. Manipur 04. Tamil Nadu
0S. Kerala

orreftr e “Ff=rgET, e wro7 & w@afeT 22

01. sfier wr3er 02. FdTe®
03. wfirg 04. TS

05. 7T

Solution for Question 84

Ans Key: 2

Ans Key: 1

eng Kuchipudi is one of the 8 classical dance forms of India. The dance form has emerged from a popular theatrical art ‘Kuchipudi Yakshagana’ named after
the place of its origin, the village Kuchipudi in Andhra Pradesh.

hi FTET, T & 8 AT T T H U T 2| 36 o bl Scrt Toh B A1¢d Fall “FHHeqel A&’ U TS <, TSsht 17 ST W= 6 Fe Y1 11 o6 Sedf 9 6
AT I T T R

Q-85  Barauni Thermal Power Station is located in which state?

eng
01. Bihar 02. Jharkhand
03. UP 04. Maharashtra
05. None of these

Q-85 I owe A T e e W fua g2



01. ﬁgr{ 02. Iw@Ee

03. ITT T 04. wgmTY

05. =i FATE A
Solution for Question 85 Ans Key: 1
eng Barauni Thermal Power Station is an existing 470 megawatt coal-fired power station earlier owned by Bihar State Electricity Board (BSEB).The power

station is located at Barauni in Begusarai district, Bihar, India.Barauni thermal power station in Bihar came into existence in association with the Russian
collaboration and came into operation in the year 1962.

hi AT T T T2 AT T feIsteft 1< (BSEB) & #AT(H@ H Tgel § HIs[@ 470 FTATE FT FHIAAT ST fastetl T2919 | Tg TTa¥ T2901
AT o @ forer & aei=t § fRora 81 fogme & a1 oie araw e sfEaea # S| 6 qgdnT % |9 g4 i a9 1962 § gfi=ray #
AT

Q-86  Golden Revolution is associated with the production of
eng

01. Oil Seeds production 02. Leather/Nonconventional (India)/Cocoa production
03.  Overall development of Agriculture 04.  Fruits/Overall Horticulture development/Honey Production

05. None of these
Q-86 wi#fy,  AJ=TEAR

01. < 3 =TT ST 02. =J|ET/ T ITRAE (W) / T IcATeA
03. o = Twyr fare 04. T / A HATHT ARTATT (AT / M2F IeaTad
05. =% T IS AT
Solution for Question 86 Ans Key: 4

Agricultural Revolutions in India

(2nd Green revolution) : Protein Revolution : Coined by Narendra Modi and Arun Jaitely.
Oilseed Production : Yellow Revolution : Sam Pitroda

Petroleum products. : Black Revolution :

Fish Production : Blue Revolution : Dr Arun Krishnan.

Leather / Cocoa / Non-Conventional Products. : Brown Revolution :

Jute Production. : Golden Fiber Revolution

Fruits / Honey Production / Horticulture Development : Golden Revolution : Nirpakh Tutej.
Fertilizers. : Grey Revolution :

Onion Production / Pharmaceuticals / Prawn Production. : Pink Revolution : Durgesh Patel.
Opverall Production of Agriculture. : Evergreen Revolution : Started in the 11th 5 year Plan.
Egg Production / Poultry Production : Silver Revolution : Indira Gandhi.

Cotton. : Silver Fiber Revolution

Meat Production / Tomato Production. : Red Revolution : Vishal Tewari.

Potato : Round Revolution

Food Grains : Green Revolution : Norman Borlaug, William Goud (UK), M.S. Swaminathan.
Milk Production. : White Revolution/Operation Flood : Verghese Kurien.

T A | Fwaam
(T A T TIEM Fifd: A& TIGT ST TR STeeft ZTT @7 AT
e cames: drett wifd: &7 fo=ar

YSIToT I IS < BT i

HEAT STTEA: AT Hif: ST =0T FErT

FHET/ FT / TT-ARARE IR« LT Hifd

S STATEA| : Teee HIEaT Hifd

e / STER ICATE / ARTATHT fashTe: #907 wifd: fAee gast|
IATH| T FwIA

TITST SATEA / FTH e ehod / SN SeaTae| « [eATelt it gRrer g

T THATRE FHT T STEA| : TEERE Fi(: 11 3 T ST H % g3
ST IATEA / FFRe IcATa: ToTd shifa: ST e

FATH| : T FIZAL FiTT

HIH IHTEH / THTEY ICATEA| : AT Fifar: forermer
S|« A HifT

QAT A HifeT: A9 Fen, e e (7%, /e @EEE|
T ICATEH| - T T / AL AT AT H{A|

Q-87 In which of the following city Headquarter of Bank of India is situated?
eng

01. New Delhi 02. Kolkata
03. Chennai 04. Mumbai

05. None of these
Q-87 &% st ST F1 qeaTay Mufetea § 7 5 age § faa &2



01. =% faeett 02. Frershrar
03. I+ 04. =3
05. =it it 7S Y
Solution for Question 87 Ans Key: 4
eng Bank of India (BOI) is a commercial bank with headquarters in Bandra Kurla Complex, Mumbai and Founded in 1906, it has been government-owned
since nationalisation in 1969.
hi 9 AT AT (BOI) FTRT H/AT HIFocrad, Gas H EATAT % AT UF AT0115TF a6 g A 1906 § TATAT, 7 1969 H TEAFIT % 18 H TLFHL &
T H 2
Q-88 In which state is Vembanad Lake located?
eng
01. Tamilnadu 02. Kerala
03.  Andhra Pradesh 04. Madhya Pradesh
05. Manipur
Q-88 T o7 & FwaeTe #Hiw a2
hi
01. FfHemTE 02. FTeT
03. sfier W= 04. weT TIoT
05. wforq
Solution for Question 88 Ans Key: 2
Vembanad Lake is located in Kerala.
JeATE AT FTt | R 2
Q-89 Indian government has signed $500 million loan agreement with which bank to improve quality & safety of Mumbai’s suburban railway system?
01. Asian Development Bank (ADB) 02. New Development Bank (NDB)
03.  Asian Infrastructure Investment Bank 04. World Bank (WB)
(AIIB)
05. World Trade Organisation.(WTO)
Q-89 AT HTHIT 7 HAE I ITAMLIT Tl WUt T T ST AT § AT % forw v 5 o |12 $ 500 THforae oy aw=ATa uv geana? (82
03. TfIrgT ToRTETFAY TraeCHT S 04. g g
05. 3 SATIT T
Solution for Question 89 Ans Key: 3
eng A loan agreement was inked between the Government of india, the Government of Maharashtra, Mumbai Raiiway Vikas Corporation (MR VC) and the
Asian Infrastructure Investment Bank (AIIB) for Mumbai Urban Transport Project-III. The agreement aims to improve the network capacity, reduction in
journey time and fatal accidents of commuters, service quality and safety of the suburban railway system in Mumbai, Maharashtra. The total estimated cost
of the project is $997 million, of which $500 million will be financed by the AIIB, $310 million by the Government of Maharashtra and $187 million by the
Ministry of Railways. The loan from the AIIB has a 5-year grace period and a maturity of 30 years.
hi Hae agdt Uivagd TRAST- 113 o A 9Ty, AgRTg 93T, {as ¥ad 6w A (MRVC) #i¥ uferms seaaw==r [Haer 9 (AlIB) %
A= TF FT GHHATAT AT HHATT T 327 Has, HGRTY H SUATUT TA TOTAT o0l deash &THaT, ATAT G0 | FHHT ST ATCAT T =1 geeArs,
AT T [UET ST AT H AT FIAT g1 TRATSAT 0l o AT anra $ 997 fofera g, S & § 500 fferas #7 narsanset, wgrrg a3 e
ZIT $ 310 faferae sie 3o wmera g $ 187 Ffera= &1 AT B S| usmesmest & 520 | 5 97 67 g2 Sare sfi¥ 30 77t it Tiagar
EEIPES
Q-90 International Youth day is celebrated on
eng
01. 2 November 02. 12 August
03. 22 October 04. 12 January
05. None of these
Q-90  sEETgE AT faew T HATAT ST g
hi

01. 299ax 02. 12 3T



03. 22 sFzaY 04. 12 SET
05. =H ¥ FTE T2

Solution for Question 90 Ans Key: 2

eng

International Youth Day is an awareness day designated by the United Nations. The purpose of the day is to draw attention to a given set of cultural and
legal issues surrounding youth. The first [YD was observed on 12 August, 2000.

hi

ST AT fad S WY G ATHT U SREEal [<ad gl & F7 3297 ATl  SEOTE & qiepiah S FIAl ol % T 9 q¢ &1
TR FEAT B TZAT ATSATSST 12 3RTET, 2000 FT IE@T 74T 27|

Q-91

eng

Kaziranga National Park is located at

01. Andhra Pradesh 02. Gujarat
03. Arunachal Pradesh 04. Assam

05. None of these
TSI TP AT H fRora 2

01. =gy sraer 02. ST
03. SEuTT=T T2 04. oy
05. =9 I FI TET

Solution for Question 91 Ans Key: 4

Q-92

Q-92

Kaziranga National Park is a national park in the Golaghat, Karbi Anglong and Nagaon districts of the state of Assam, India. The sanctuary, which hosts
two-thirds of the world's great one-horned rhinoceroses, is a World Heritage Site.

FTSIIT TP AT AT  FHH TS F ITATHTE, FTAT ARTANT 3T AW et § U TET AW g ATAT0T, ST ZHIT 3 AT Teh Hi1 ATer
ST 3 21-faers R =1 2ree 2 2, U forg o s 2

Name the insurance company which has launched an insurance product called “Shagun — Gift an Insurance”. It is a unique gift of Personal Accident policy?

01. Sampo General Insurance Company Ltd ~ 02. SBI General Insurance
03. Royal Sundaram General Insurance Co Ltd 04. HDFC ERGO General Insurance Company

05. Bharti Axa General Insurance Company Ltd
I ST FOAT FHT ATH FAT2C S0 "0 - e T S93a" qTH SHT IeqTE Al (63T §| TE AT AT A T TH SAT2T ST 872

oo

01. {7 ST 29T FO+1 fAfiee 02. THATATE T Z9TATLH

03. v{er evw ST 29T Fu forffee 04, T=STuwelt Semesiie Seeer 297y Fo

05.  ATEAT UHHAT STATeT 2999 9T forf

Solution for Question 92 Ans Key: 2

SBI General Insurance has launched an insurance product called “Shagun — Gift an Insurance”. It is a unique gift of Personal Accident policy.

THATATS AT S9ATH o "9 - [ T S| AT Uah SHT 3T Aled ThAT 1 g ARG AT A T TF 2T ITZ &l

Q-93

eng

Name the organization which has launched a debt and credit guarantee product ‘Structured Finance and Partial Guarantee Programme to NBFC-MFIs’
(signed a pact with Vivriti Capital and Ujjivan Small Finance Bank)?

01. Competition Commission of India (CCI) ~ 02. Insurance Regulatory Development Authority of India (IRDAI)
03. Reserve Bank of India (RBI) 04. The Securities and Exchange Board of India (SEBI)

0S. National Bank for Agriculture & Rural

Development (NABARD)
I TS T ATH TS0 SrE 207 7Y 07 T IaTE Ao (30T 2 oy wxf=ra B sfre srifors 7t sy uaehoset-raussars (Rrehdy
et T IS THIT BT ok F T UF GHATT T ZEATET)?

01. Competition Commission of India (CCI) ~ 02. Insurance Regulatory Development Authority of India (IRDAI)
03. Reserve Bank of India (RBI) 04. The Securities and Exchange Board of India (SEBI)

05. National Bank for Agriculture & Rural
Development (NABARD)

Solution for Question 93 Ans Key: 5

eng

National Bank for Agriculture and Rural Development (NABARD) has introduced, ‘Structured Finance and Partial Guarantee Program for Non-Banking
Finance Companies (NBFC)-Micro Finance Institutions (MFIs)’, a dedicated debt and credit guarantee product to ensure uninterrupted flow of credit to



the last mile in rural areas hit by the COVID-19 pandemic. NABARD has signed a pact with Vivriti Capital and Ujjivan Small Finance Bank on 14 August
2020 to introduce the initiative, which will enhance sustainable finance access to microenterprises and low-income households.

hi YA & BT T ehedax U Lo gaaqde (NABARD) 7 'AiH-s T Wrz=e safaart (NBFC) -Micro Finance Institutions (MFI) % forg! sf=a fa=r
ST AT AT A e o &, S T3 et warg giafea s % fore v qufda =7 sfi¥ ko7 I 3ca1e @ COVID-19 AETHTT & |17
HA T ATHOT TATHT § Y Hiel qh T AT ATATE T T T FIA 6 o0 14 307Eq 2020 FT A0 Ffee siv Ssftam waier sz« 5 F ar
TF HHATT ¥ gearer? o g, ST T gew o o | o arel =) § ST ) 98+ 0 s
Q-94  Orang national park is situated in
eng
01. Assam 02. Maharashtra
03. Tamil Nadu 04. Andhra Pradesh
05. None of these
Q-94 AT AL IR HfRaa gl
hi
01. =9 02. HERTY
03. i 04. ey y=or
05. it & e T
Solution for Question 94 Ans Key: 1
The Orang National Park also known as Rajiv Gandhi Orang National Park is located on the north bank of the Brahmaputra River in the Darrang
and Sonitpur districts of Assam.
FHTT AAASA U DY Tolg I AT AAASA ULk &b & H H ST AT &, Ig 31A & 91 AR AfAaR el 7 gerga Jar & 3a8 Fan ¥ Ra &
Q-95  Peso s the currency of which country?
01. Senegal 02. Panama
03. Peru 04. Philippines
05. None of these
Q-95  UEl fFE Iq AT qITR?
01. Herer 02. THTHT
03. = 04. forefrfie
05. Z% F F1E Al
Solution for Question 95 Ans Key: 4
Senegal : Dakar : CFA Franc
Panama : Panama City : Panamanian Balboa
Peru : Lima : Peruvian Nuevo Sol
Philippines : Manila : Philippine Peso
hi HeivTol: ShI<: H(UHU heh
TATHT: TATHT (e q TR areaten
U SITAT: A AT 9
Rt etter: et T
Q-96 Pin Valley national park is located in which state?
eng
01. Gujarat. 02. Assam.
03. Madhya pradesh. 04. Himachal Pradesh.
0S. Maharashtra.
Q-96 O it g 3= o TroT § a2
hi
01. SR} 02. 3EH
03. e w3 04. fZoT=e Jaor
05. #gy
Solution for Question 96 Ans Key: 4
eng Pin Valley National Park is a National park of India located within the Lahaul and Spiti district, in the state of Himachal Pradesh.
hi O et T9re U AT T UF AL IA ¢ S AT i o et forer  «frae, fRam=er yaor wrsa 7 fua 8



Q-97

Satpura National Park is situated in which state?

eng
01. Himachal Pradesh 02. Andhra Pradesh
03. Madhya Pradesh 04. Kerala
05. None of these
Q-97  HAIST TE A [ TS | BT g2
hi
01. fRHT=ret g=er 02. ey waer
03. e w3 04. F7eT
05. =t & E T
Solution for Question 97 Ans Key: 3
eng Satpura National Park is located in the Hoshangabad district of Madhya Pradesh in India. Its name is derived from the Satpura range.
hi AT LI AT AL § Heg 9T o gIeRTars forer # fRora g1 oet 91 Faqet Jvft 7 forar = )
Q-98 Scheduled Banks of India are those banks, which are -
eng
01. included in First Schedule of RBI Act, 1934 02. not included in First Schedule of RBI Act, 1934
03. included in Second Schedule of RBI Act, 04. not included in Second Schedule of RBI Act, 1934
1934
05. None of these
Q-98 =T §F WA F AT §F &, I -
01. syveftems srfarfaam, 1 9 34 & Tzt 02. sataTs Arferfa=m, 19 34 T TgeAT ST H AT Tl &l
ATEAT § AT g
03. sreetars fafaam, 1934 frgadt 04, sreetars srfafer, 19 34 =1 gt Iy | oTiHe 6t 21
AT § 9T B
05. i & 7 T
Solution for Question 98 Ans Key: 3
Scheduled Banks of India are those banks, which are included in Second Schedule of RBI Act, 1934.
AT srfarfea, 19 34 & THLT ST | ATHSA S W F AT 9 F o, |
Q-99 The Bank for International Settlements (BIS) is an international financial institution. It is based in
01. Basel, Switzerland 02. Geneva, Switzerland
03. Zurich, Switzerland 04. Bern, Switzerland
05. None of these
Q-99  9F B TEAUAA HeAHH (FTAEUH) U AL [a<d €A1 gl T8 H feud gl
hi
01. aHe, fRagerds 02. o, Fagsieee
03. wrfvE, Ragece 04. T, Faeseas
05. = qFIE ALY
Solution for Question 99 Ans Key: 1

eng The Bank for International Settlements (BIS) is an international financial institution. It is based in Basel, Switzerland.
hi & BR AT Vearded (A3M0H) UF JTWE o T8I &1 I8 39, RacoRds 3 Ry 2
Q-100 The reserve held by commercial bank in form of cash with RBI is known as?
eng
01. Cash reserve 02. Deposit reserve
03. Excess reserve 04. Momentary reserve
05. Monetary reserve
Q-100 ST TTa 5 % 919 THAl F =T F AT 9 g1 STHT T9d (ohe & § T S1aT 82



01. g amefera 02. ST e

03. sfafis seferm 04. e sefera
05. wife= amefera
Solution for Question 100 Ans Key: 1
eng The reserve held by commercial bank in form of cash with RBI is known as Cash reserve.
hi T T & 3 a1 TRt F =9 § ariorieass S grer st ford e e F w9 § S S gl
Q-101 Whatis the capital of Goa?
eng
01. Gangtok 02. Panaji
03. Dispur 04.  Shillong
05. None of these
Q-101 T =¥ T T E?
hi
01. FErF 02. worstr
03. fEq 04. forerir
05. =it i 7S Y
Solution for Question 101 Ans Key: 2
Meghalaya : Shillong : Satya Pal Malik : Conrad Sangma
Goa : Panaji : Bhagat Singh Koshyari : Pramod Sawant
Sikkim : Gangtok : Ganga Prasad : Prem Singh Tamang
Assam : Dispur : Jagdish Mukhi : Sarbananda Sonowal
AT FATRTRT: /e T Jiereh: HiAeTeS THT
AT JUIST: 99T {2 19T TS Jred
TRt sivrare: s e S R qEir
rEH: T STaTer e gaide g
Q-102  What is the Capital of Maldives?
01. Lisbon 02. Male
03. Kampala 04. Rabat
0S. Asmara
Q-102 w7 &l ST T 52
hi
01. forea+ 02. HTor
03. FYTaT 04. w&q
05. sraHTT
Solution for Question 102 Ans Key: 2

eng Portugal : Lisbon : Euro
Maldives : Male’ : Maldivian Rufiyaa
Morocco : Rabat : Moroccan Dirham
Eritrea : Asmara : Nakfa
Uganda : Kampala : Ugandan Shilling

hi T fores: 77T
HTETE: HT: HTAare wihar
g T Aieg faegw
T AT ST AT
INTTET: HOTAT: AT FAreT

Q-103 Whatis the full form of CAR?
eng

01. Current Account Ratio 02. Concurrent Account Ratio
03. Capital Account Ratio 04. Capital Adequacy Ratio

05. None of these
Q-103  FTTFHT IO & F7 &2



01. =32 erhrae TfaaT 02. FAFE AT TAT

03. FfYeer srhrse <RaT 04. Ffoeer urguHT TR

05. =% & g T
Solution for Question 103 Ans Key: 4
eng Capital Adequacy Ratio is also known as Capital to Risk Assets Ratio. It is the ratio of a bank's capital to its risk. National regulators track a bank's CAR

to ensure that it can absorb a reasonable amount of loss and complies with statutory Capital requirements. It is a measure of a bank's capital.

hi Fitee USiToadl LI FT FHfied g EF THEd LT & & § 97 A1 S1a7 21 T2 el 9o 61 GS( o STTEH F SqI0d gl TR Famws UF 956
1 FTC AT T AT F27 F forw 2 w2 8 76 75 S amn & G6ame # S@enfod £ @5 T F97iae IS AraeTahdrsi F7 STqarad FT T4
T S T GSIT AT ATTF 2

Q-104 What s the full form of COCSSO?
eng

01. Conference of Centre and State Officers ~ 02. Central Conference of State Organizations
03. Conference of Central and State 04. Conference of Central Statistic Organizations
Organizations
0S. Conference of Central Statistic Operation
Q-104 COCSSO T T &9 FT &2

hi
01. =% o Hex T w2 Aifhed 02. T FIHH AE FT ANATSAATARATE AT
03. e AT HeoT U T A AT 04. FThE AT F2oT U TEfeaTeashar ANHTE S9N
05. e AT HeoT U Tfaaieasha AaH
Solution for Question 104 Ans Key: 3

The 27th Conference of Central and State Statistical Organizations (COCSSO) was inaugurated at Kolkata, West Bengal on 11th November, 2019. The
Conference is organized by the Ministry of Statistics and Programme Implementation (MoSPI), Government of India every year.

FAIT 3T ToFT T 5341 (COCSSO) 3 27 & HEHAT FT IHTET HITRTdT, TS s | 11 Fer%, 2019 =i T3 47 AT T 1
TSI TR HATAT ST HTAFRH A7 T (MoSPI), T HLHTL FIT < | TR AT ST &l

Q-105 What is the maximum amount can be auctioned by the RBI under term repo rate?

01. .75% of NDTL of the bank 02. (.75 % of the NDTL of the banking system
03. 2.5 % of the NDTL of the bank 04. 5% of the NDTL of the bank

05. 3% of the NDTL of the bank
Q-105 =¥ 01 X2 % dad ATarE gIaT Afdreraw et 7rfor i et 1 o aenedt £2

hi

01. &% % NDTL %7 0.75% 02. ST JorTet % NDTL %7 0.75%

03. & F TASIEUA FT 2.5% 04. 5% % NDTL FT 5%

05. <% % NDTL #T 3%
Solution for Question 105 Ans Key: 2
eng In term repos, funds are given to banks on an auction basis. Which can be a maximum of 0.75% of the NDTL of all of them.

hi TH T § AT F ST 9% S A7 e AT SIar g1 S 56 37 a9 F NDTL #7 0.75 % Aferena® g1 dehdT g

Q-106 What is the maximum amount can be taken under MSF by a commercial bank?
eng

01. 1% of NDTL 02. 2% of NDTL
03. 5% NDTL 04. % of NDTL

05. 10% of NDTL
Q-106 UF AT 9 FTT MSF % q@a STferwad fhart T11er &t ST Hefdt 52

hi

01. TFSHETT FT 1% 02. TFSTET T 2%

03. 5% TASIATA 04. THSTEUA 7T 6%

05. THSTEUA FT 10%
Solution for Question 106 Ans Key: 2
eng A commercial bank can borrow money from RBI 24 hours under MSF .

hi U FATIOTToT% S MSF % dgd RBI | 24 5 % forw §97 o Tt 21




Q-107 What is the other name of the Dehradun airport?

eng
01. Himalayan Airport 02. Mac Mohan Airport
03. Jolly Grant Airport 04. Uttarakhand Airport
05. Badrinath Airport
Q-107 =EITEA 2ATE A FT ZALT AT T 82
hi
01. fRwTerft Zams srgr 02. # HTE gaTE 75
03. Sieft 317 gaTE argr 04. SETTEE FATE AT
05. T ZATE SAgT
Solution for Question 107 Ans Key: 3
eng Uttarakhand Government has decided to rename the Dehradun airport (Jolly Grant Airport) after former Prime Minister Atal Bihari Vajpayee.
hi TGS LA T4 TATTHAT et gt arsrdt & 710 9% Tg215A gaTs gl (Sl AT gaTs AZT) FT ATH aZa T TEAT (64T 2
Q-108 When is the World Hepatitis Day observed?
eng
01. July Ist 02. July 28th
03. July 20th 04. July 29th
05. July 23rd
Q-108 fora gersfew fdaw Fa wamaT STaT 82
01. | [@TE 02. 28 T
03. 20 JATE 04. 29 JATE
05. 23 JATE
Solution for Question 108 Ans Key: 2
World Hepatitis Day is observed on July 28. The day aims to boost national and international efforts on hepatitis and encourage actions and engagement by
individuals and partners to enhance the awareness regarding the disease.
o gueTsien faaw 28 AT &l HATAT SITAT 21 39 {37 7 Ig9F FUTEfed U¥ LI AT SAqAST TATHT T FETaT aAT ¥ dHET & a &
STRTEAT FET o (o0 SR 3T AFHET ST<T 1T ST¥ &S 1 TeAT e HEAT 8l
Q-109  Where is the Jung-E-Azadi memorial located?
01. Gujarat 02. Punjab
03. Bihar 04. Uttar Pradesh
05. Chandigarh
Q-109 SRT-U-SATATT TATLE Fgl foora 22
01. ETa 02. G99
03. faEw 04. 3ITT 29
05. =<hTe
Solution for Question 109 Ans Key: 2
eng Jang-e-Azadi Memorial is a memorial and museum being built in Kartarpur of Punjab, India, in memory of contribution and sacrifices made by
the Punjabi community in Indian independence movement.
hi SIT-U-3TSAE TARD ARANT FIATT JHeleral F Uil Ferd gr1 fhu aw duree 3R afdea i I #, 9Rd & G & SARE F a1 -1 Th
RS AR Faered
Q-110  Where is Veer Savarkar International Airport?
eng
01. Guwahati 02. Port Blair
03. Surat 04. Jammu
05. Imphal
Q-110 =T ATATHT AL gaTS AT Fal &2



01. ETETEr 02. IS s T

03. qzd 04. S
05. T
Solution for Question 110 Ans Key: 2
eng Veer Savarkar International Airport in Port Blair has been declared as an authorized Immigration Check post for entry into/exit from India with valid travel
documents for all classes of passengers.
hi e g7 R ¥ ATava? SAvigid gars g H T avt & AT & (o7 9 AT TqTersti & A7 AT § aTge oot / Saer & forw srfersga
AT = TS o &9 F =i B T )
Q-111  Where is Vishwakarma Skill University?
eng
01. Dudhola 02. Narayanapur
03. Mohanganj 04. Sitapur
0S. Ramsarai
Q-111 fera=at Faa gRatEe Fagl 22
hi
01. gefter 02. AT
03. HrEasT 04. iz
05. v
Solution for Question 111 AnsKey: 1
Prime Minister Narendra Modi laid the foundation stone of Vishwakarma Skill University at village Dudhola in Palwal from Sultanpur village in Gurugram
district.
TLTAHAT F4eg ATl F TEATH Forel o AT 9 | AT STATAT § Totael f50er 3 et T § g+ aret «fF fHeasat wrerer fEreate=mes £
ST AT =T
Q-112  Which country will host the annual G20 summit in 20227
01. Japan 02. China
03. India 04. Ttaly
0S. France
Q-112 2022 H FI &7 297 AT STt -20 FAET FFHT AT HSAATHT FHIT?
01. ST 02. ==
03. =fear 04. ===t
0S. e
Solution for Question 112 Ans Key: 3
India will host the annual G20 summit in 2022.
hi AT 2022 H AT ST1-20 @ T it HSam1 |
Q-113  Which Ministry has launched a mobile app called Mausam?
eng
01. Home Ministry 02. Health Ministry
03. Both (a) & (b) 04. Earth Sciences Ministry
05. Environment Ministry
Q-113 & HATe  HIGH T0F UF Hia13a UF Aled (6T 82
hi
01. 32 H=Ter T 02. w=TEsy WATAT
03. ET(A) 3T (B) 04. ge=ft A=t HATer T
05. T=TEzoT HaTAd
Solution for Question 113 Ans Key: 4
eng The Ministry of Earth Sciences launched the mobile App "Mausam” on July 27, 2020 for the India Meteorological Department on its Foundation Day
celebrations. The users will be able to access weather forecasts, radar images and be warned of the impending weather events.
hi TEET TS H3T T o1 T foae FHg 9¢ 9ed /e &5 @anr o 27 e, 2020 1 Arared U Wies" e fRE) STt

HIEH F QATIHT, TS ZIadT HT START 7 H T8 T 37T A ATHISE FIAFHL 00 AqTael & T gl




Q-114  Which of the following is related to Tennis?
eng

01. French Open 02. Wimbledon
03. US Open 04.  Australian Open

05. All of the above
Q-114 =78 ¥ %1 a7 9 7 Fafdq 22

hi

01. w= sfae 02. fHaere

03. FUH AT 04. sffeefor e

05. I 4T
Solution for Question 114 Ans Key: 5
eng Tournament : Month : City : Country : Continent : Surface : Established

Australian Open : January : Melbourne : Australia : Oceania : Hard (blue) : 1905

French Open : May — June : Paris : France : Europe : Clay (Red) : 1891

Wimbledon : June — July : London : United Kingdom : Europe : Grass (green) : 1877

US Open : August — September : New York : United States : North America : Hard (blue) : 1881

hi TATHE: HEIAT: TE¥: I9T: WETaIT: {ag: TITfud
SATEL I ST STat: Hefa: et @W:@é(ﬁw): 1905
fﬁw:qé—ﬁﬁ:ﬁﬁﬁzmzﬁﬁq:ﬁ(ﬁ): 1891
fefereTes: S - TS Fa: ITses e T4 =T (37): 1877
JUH A9 IR - FHdaw: =@ts 6 157 AHRHT: I AR BT (F1n): 1881

Q-115  Which of the following river is known as the soul of Basel?

01. Rhine river 02. Amazon river
03. Seine river 04. Volgariver

05. None of these
Q-115 oo & & G 7t #1 39 £¥ AT F &9 F JET SI7am 82

01. vr=+ 74T 02. ST T4t
03. =i 7 04. ST =T
05. =7 FFHIE Tol
Solution for Question 115 Ans Key: 1

Rhine River is the soul of Basel and the heartbeat of Switzerland.

TS AT, dH DT AT IR FacoReis & G H 95hd Fel ATl &l

Q-116  Which of the following statement is true regarding BSBDA?

01. There is no requirement of maintaining 02. Maximum 4 withdrawal (including ATM withdrawals) is allowed in BSBDA
minimum balance in BSBDA

03. ATM/Debit card is provided to the 04.  All are true
customers

05. None of these
Q-116 FuHAEivF ar # Fufofed § & &7 a1 797 a7 82

hi
01. FroghSio & gaaw AT g @ fr 02, HuEEdT H afgwaw 4 Faeh (ohun FEeh afa) & o g
FTE ATITHAT ALT &
03. véuw/fae FE areH T uEE Ry 04, gt HT
S8
05. e i 7€
Solution for Question 116 Ans Key: 4
eng ® There is no requirement of maintaining minimum balance in BSBDA
e Maximum 4 withdrawal (including ATM withdrawals) is allowed in BSBDA
e ATM/Debit card is provided to the customers
hi o FUHAEIT § FATH AT FATT TG T HIS AAAHAT el &

o FEAET s 4 FrTeft (TAT T ) A A 2



o Tduw /3 F1E grewt F wT Ry @

Q-117  Which railway station has introduced baggage sanitization and wrapping machine recently?
eng
01. Ahmedabad Railway station 02. Chennai Railway station
03. Mumbai Railway station 04. Kanpur Railway station
05. Mangalore Railway station
Q-117 =T &1 | e Yorar Teer 7 a1t afeeresrer i T wefi it greena #7122
hi
01. SEHITETE Tod w2 02. =g ¥ &®AqT
03. Ha< I w9 04. FTAYL AT AT
05. AR T T
Solution for Question 117 Ans Key: 1
eng Ahmedabad Railway Division launched the Baggage Sanitization and Wrapping Machine at the Ahmedabad Railway station to ensure safe travel for the
passengers during the Pandemic. The Ahmedabad Railway Division has introduced the machine after considering the increase in transport and travel
services after Unlock-1 Phase.
hi AZHTATE ¥Ad TasTRT § HETHTLT % ST AT 6 o0 gRiera Jrm At w3 % o7 sTgAarans Tod £90 ¥ RIS SHerasterd T T
TP FY QEATT 07| SAZHITATE TAS [SATSIT o SAAAT -1 AL & ATG TG ST ATAT AT H Iz 1 a@d gT FLAIT a0l Lz i
Q-118  Which state government has signed MoU with Micro Tek new technologies to set up electronics manufacturing unit in the state (August 2020)?
01. Maharashtra 02. Gujarat
03. Chhattisgarh 04. Himachal Pradesh
05. None of Above.
Q-118 T T57 o3& 7 757 § Teraei e AfRair 31 (3R 2020) ST F3 % o0 ATSHT 3% 9 T & q1 FHATAT AT T ZEATeA7
01. Maharashtra 02. Gujarat
03. Chhattisgarh 04. Himachal Pradesh
05. None of Above.
Solution for Question 118 Ans Key: 5
The Government of Himachal Pradesh (HP) has signed a Memorandum of Understanding (MoU) worth Rs110 Crores with Micro Tek New Technologies
Private Ltd for setting up an Electronics Manufacturing Unit at Baddi, Solan District, Himachal Pradesh. The MoU was signed by Director of Industries,
Himachal Pradesh, Hans Raj Sharma and Subodh Gupta, Chairman of MicroTek New Technologies Private Ltd.
AT T=er T (RATA W9 7 J2, |Haq 5, fur=e gaer § U soraei=a A=At re eanfud F3d & o aresr e =
SFTATSIST ITSae ffies & a1 110 FE €99 & HATTT AT (THA) I gearer? 3 &1 MoU u¥ 3= fHaers, = waer, 89 71T o7
ST T AT, ATSH T = SHTATSTIST qTEae frfHes % =J7eaa F geare? )
Q-119 Who among the following has authored the book titled as ‘One Arranged Murder’ that will be released globally on September 28, 2020?
eng
01. Jagdeep Dhankar. 02.  Anil Kapoor.
03.  Amish Tripathi. 04. Suresh yadav.
05. Chetan Bhagat.
Q-119 Fwfafed § 7 BFra 28 fBdaw, 2020 FT a9 ST HEL A0S TEqF & (97 T 9¢ T 6T 82
hi
01. Y gaEs 02. sfaer T
03. srefter BTt 04. For ATEH
05. =a« T
Solution for Question 119 Ans Key: 5
eng Chetan Bhagat has authored the book titled as ‘One Arranged Murder’ that will be released globally on September 28, 2020.
hi AT T F qF AT HEL ATHE TEash [ forar &, S 28 e, 2020 F afsas wqw 97 st grft
Q-120  Who authored the book titled ‘Running Toward Mystery: The Adventure of an Unconventional Life’?

eng



01. Monika Arora. 02. Zara Houshmand.
03. Tenzin Priyadarshi. 04. Only (a).

05. Both (b) and (c).
Q-120 zaTs = &t e T TSa= A 97 Ta=d ATeh qTHE TEah & A& Hid 57

hi

01. HTf=T ST 02. ST ZrSHHE

03. F=fore forareeft 04. F=e (A)

0. 1T (B) AT (C)
Solution for Question 120 Ans Key: 5
eng The book ‘Running Toward Mystery: The Adventure of an Unconventional Life’ authored by Tenzin Priyadarshi and co-written by Zara Houshmand

released. The book provides an account of how the Dalai Lama traced his Spiritual Teacher Khunu Lama in India.

hi TEqF AT 21 (AT T USHaT Al A9 Feaoae ATeE @ dqro aaeff grer ot 12 g oire wg-forfed e grsass 7 S = 81
TEAF H TATS ATHT 7 I § O STeATiona f2reqe g 19T % ar § aqran §

Passage for Question 121, 122, 123, 124, 125, 126, 127, 128, 129, 130 (ST-108 RRBPO (151-160)2014)
eng Passage

In the following passage there are blanks each of which has been numbered. These numbers are given below the passage and against each five
words are suggested one of which fits the blank appropriately. Find out the appropriate word in each case.

Although he is no longer alive, (A) his influence can be felt in the studio (B) he created cartoons and feature films which made him known and (C) around the world.
(D) many people who work to create humour he took it very seriously. He would sit sadly (E) the funniest cartoon concentrating on some way to improve it. Walt
Disney (F) the opinions of those working with him but the (G) Judgement was always his. He demanded a lot (H) people but he gave a lot too. When the economy
was not doing well he gave every one a (I) and though some (J) of this, it gave his employees’ morale a boost.

hi Passage

T fou o aiv=aE # %5 R ©Ie | QU T 8 T 398 757 ST & 90T 9T 81 T §eTs a=wg & A qiad §, T E & arEd (1), (2), (3), (4) 3T
(5) Fared fm aTw 81 =9 af=l # F A UF o7 N 9 # W T=ag F e § S & 9 T2 7 3qT &, SATTH! 98 [aehed Td HAT &, o7 IqH
FHIE &1 I 6 T H AT 8| AT {30 70 Feedi § T qa9 ST H 999 FHA7 2

TF Fe1 § AT od | fEa=me- Al o= =t w27 o, s S U oY 9T 3 ARt T T & aehl 9% F97 99 ot off, AT w0 50 T
AT AT TATZHTE F T A7 A= | T g0 (A) SIETST H Fgl, “HRIeT ST U ¥ a7 o1 A1 STHT il a1 &1 T gl 59 S & a1 § 97 &1 g2°
FLAEA HES I FTA | S ST TN 1995 3 F1E GQT g0 AR 1 FTHanrs(t (w1 0% | fefSree et & am & oft 7eage 78 f@r uF 5907 (B) I

H U7 g2 g1 FATAT ST F HIHEAA UL el 6 6 ST F I T ATSTAT SATT F el Het af a2 g1 ST

TATEHTT IdTd ¢ (% oI oTg UL del g, ST fAvaw eriferw (€) F fRufa § 2t 21 sareor F forw o erow o &1 21 (%0, ST o1 Sreq &1 597 a7 20
ST U &I AT G 727 2 At (D) AHHT T R glee T¢ T@T ¢ 3T I ATerT § Fielsl 1 A TS T TS AT STSAATE 21 Lol gl T899 T8l
| T oY S 7 &9 & T =9 Aad 9 (E) F2, ST 364 TR a1d 48 g T 519 S U (F) § U F SATIT FHTH 97 ATF T 97 37 o qFhrae

I Fg! dea? adw § B

&1 7@ T e & (G) a3z & w3l I a1q F3 % o e o, o o et 81 SATaTaY Teares foretad e ¢ 6 I a1 agdHT sHd a7
1T FIA Tl SATET TSI & 2| ITSHATSIZTSH FIH T TG TA&A0 AT FHATIT T (H) FA T T FdT g1 T 7, AT TgH gl ST 8 190 F4T
ATF T IE TF LA o (70 LT AT T (1) 2 T STeh! gl T2eiTd AT 2 3T Fgl Ha9r it STeed T2 97497 3+ 379+ T35 | At forat,
TTrAT T, ST AT ST a5 NETE & for fSrear [t & Asiaq 9a 910 82 3G STaTd el STel g #9116 o8 ol (J) ¥ ®a&
B AT 3, ST IHE QI GIET o qHTael 1o THART T ST G & (oI STt JHT 8% 21T & Tl

Q-121 Choose the correct option for (A)

eng
01. yet 02. even
03. and 04. il
05. besides
Q-121 (A) F o 2T faaheT &1 799 F:7
hi
01. ey 02.  qTa=T U7
03. srerer of 04. Frfaa
05. Trorqet
Solution for Question 121 Ans Key: 1
eng 'Although' takes 'yet' with it.

Q-122  Choose the correct option for (B)



eng

01. from 02. where
03. which 04. while
05. that
Q-122 (B) F ford @&l fasre &1 =37 #7)
hi
01. wifarey 02. fefSea
03. e 04. srefaT
05. sferfiga
Solution for Question 122 Ans Key: 2
eng Where (adverb)- in or to what situation or condition.
Q-123  Choose the correct option for (C)
eng
01. respect 02. seen
03. loved 04. entertained
05. laughed
Q-123 (C) F for¥r =gt oo &1 79+ F:3)
hi
01. =y 02. YT
03. e 04. =
05. =or
Solution for Question 123 Ans Key: 3
eng Love (v)- feel deep affection.
For other options-
Entertain (v)- provide (someone) with amusement or enjoyment.
Q-124 Choose the correct option for (D)
eng
01. for 02. to
03. without 04. not
05. like
Q-124 (D) = fora a&t fashed F71 =37 F7|
hi
01. 399 02. 3+
03. AT 04. oY
05. 3&ehr
Solution for Question 124 Ans Key: 5
eng Like (preposition)- similar to.
Q-125 Choose the correct option for (E)
eng
01. on 02. until
03. front 04.  through
05. in
Q-125 (B) ¥ forr 9t oo &1 =9+ F:21
hi
01. f=ar 02. e Ffaa
03. Srefr=T 04. forer
05. T
Solution for Question 125 Ans Key: 3

eng 'Front' here means 'look at something'.




Q-126 Choose the correct option for (F)
eng

01. saw 02. concluded
03. discussed 04. discouraged

05. valued
Q-126 (F) = forg @&t faaved &7 =73 #:7)
hi

01. =5 02. fag
03. I 04. o1
05. #9997

Solution for Question 126

Ans Key: 5

eng Value (v)- consider (someone or something) to be important or beneficial; have a high opinion of.

For other options:
Discourage (v)- lowered morale.

Q-127 Choose the correct option for (G)

01. final 02. yltimately
03. important 04. hasty

05. [asting
Q-127 (G) % fora w21 fashed 7 =7 #3

01. Tzt 02. fa=meff
03. wagF 04. FH=TIT
05. srferrey

Solution for Question 127
For other options:

Ultimately (adv)- at last
Lasting (adj)- enduring

Q-128 Choose the correct option for (H)

01. by 02. fiom
03. with 04. to

05. many
Q-128 (1) % 4 Hal (9%ed %7 949 @

01. srafda 02. 7w
03. yferfera 04. T
05. Horh

Solution for Question 128

Ans Key: 1

Ans Key: 2

eng From (preposition)- indicating a source of knowledge or the basis for one's judgement.

Q-129 Choose the correct option for (I)

eng
01. advance 02. share
03. fee 04. raise
0S. profit

Q-129 (O ford T [AFed 7 47 F|

hi
01. g 02. sfishs

03. AT 04. TUTETT



05. Frgererar
Solution for Question 129 Ans Key: 2

eng Share (n)- a part or portion of a larger amount which is divided among a number of people, or to which a number of people contribute.

Q-130 Choose the correct option for (J)

eng
01. credit 02. disapproved
03. criticized 04. offended
05. paid
3'130 () F Torr gt faseT &1 99 2
01. ST 02. ST
03. T2 04. THFT ST
05. TH-ATE ST
Solution for Question 130 Ans Key: 2
eng Disapprove (v)- have or express an unfavourable opinion.
For other options:

Credit (n)- praise
Offend (v)- hurt

hi

Passage for Question 131, 132, 133, 134, 135 (ST-108 RRBPO (146-150) 2014)
eng Passage

Rearrange the following six sentences (A), (B), (C), (D), (E) and (F) in the proper sequence to form a meaningful paragraph; then answer the questions’ given
below them.

(A) Thus rapid development is still unable to meet demand.

(B) Surplus funds from hikes in passenger fares and cuts in staff have made this possible.

(C) This demonstrates that it has been transformed into a modern high standard design and high service reliable system.

(D) However China’s railways are not problem free.

(E) China’s railways have been able to generate the funds needed for the construction of new railway lines internally.

(F) For example at present about 2,80,000 cars are requested daily to transport goods but only half the requests can be met.

hi Passage

= (A), (B), (C), (D) 317 (E) ¥ AT ¥ {30 17 €| =71 79ff 1 FHorat #i1 =7 q¥g Hafedd i & 398 v oot ufi=ag a= 1) 6 39+ a1 fRu
| 7T s 7 3T S

(A) ST& BRI FAUAT ATHVT Gew THaT AT U TAT TET gl ST SHT FATH & [T 16 Svaie AT & FhaT ae &l FI1 Tol Fal?
(B) F® AT Tgol T4 TFITd THIST 376q FATH [ANTT | STAT I qATTed 7 Tg 9

(C) FTH T =T ¥ Ul

(D) SR =T &7 F TS Sarel fT 0T I8 AT F IRt Zeft it @it ¥ far e &t 3 et ST qerara 21 w2 8, 36 A

(E) 329 1T A FSt HGAT FT STFL, THMAAL, FATF, AFATET AT STHT S T ATEATH AT

Q-131 Which of the following is the FIRST sentence after rearrangement ?

eng
01. A 02. B
03. C 04. D
05. E
Q-131 STIH § & FIF &7 [THAEAT & 18 AL a6 0T 2
hi
01. E 02. A
03. D 04. B
05. C
Solution for Question 131 Ans Key: 5
eng The arrangement would be EBCDFA. The paragraph discusses the achievements and challenges faced by China’s railways.

hi ZEET BEADC g




Q-132  Which of the following is the THIRD sentence after rearrangement ?

eng

01. A 02. B

03. C 04. E

05. F
Q-132  STIRH § & HIF AT [AAFEAT 5 T8 (6T T g2
hi

01. g 02. B

03. A 04. D

05. C
Solution for Question 132 Ans Key: 3
eng The arrangement would be EBCDFA. The paragraph discusses the achievements and challenges faced by China’s railways.
hi ZEET BEADC g

Q-133  Which of the following is the SECOND sentence after rearrangement?

eng
01. A 02. B
03. C 04. D
05. E

Q-133  IUUIH | F A 97 (AT 6 18 THLT AT 210 2

01. B 02. E
03. C 04. D
05. A
Solution for Question 133 Ans Key: 2

The arrangement would be EBCDFA. The paragraph discusses the achievements and challenges faced by China’s railways.

=raeT BEADC 2T

Q-134  Which of the following is the SIXTH (LAST) sentence after rearrangement ?

01. A 02. B
03. C 04. D
05. F

Q-134  SUIIRE | F &I A7 [AAGET F 18 AT AT g2

01. D 02. B

03. A 04. E

05. C
Solution for Question 134 AnsKey: 1
eng The arrangement would be EBCDFA. The paragraph discusses the achievements and challenges faced by China’s railways.
hi Z[EeT BEADC BRTT|

Q-135 Which of the following is the FIFTH sentence after rearrangement ?

eng
01. A 02. C
03. D 04. E
05. F

Q-135 SUIRH § & HIF A7 [THAEAT & 18 TZAT AT 2T 2

hi
01. D 02. E
03. A 04. C
05. B

Solution for Question 135 Ans Key: 5



eng The arrangement would be EBCDFA. The paragraph discusses the achievements and challenges faced by China’s railways.
hi ZEET BEADC 21T

Passage for Question 136, 137, 138, 139, 140 (ST-108 RRBPO (131-135) 2014)
eng Passage

Read the following passage carefully and answer the question given below it. Certain words have been printed in bold to help you locate them while answering
some of the questions.

Agriculture has always been celebrated as the primary sector in India. Thanks to the Green Revolution, India is now self-sufficient in food production. Indian
agriculture has been making technological advancement as well. Does that mean everything is looking bright for Indian agriculture ? A superficial analysis of the
above points would tempt one to say yes, but the truth is far from it. The reality is that Indian fanners have to face extreme poverty and financial crisis, which is
driving them to suicides. What are the grave adversities that drive: the farmers to commit suicide, at a time when Indian economy is supposed to be gearing up to
take on the world ?

Indian agriculture is predominantly dependent on nature. Irrigation facilities that are currently available, do not cover the entire cultivable land. If the farmers are at
the mercy of monsoons for timely water for their crops, they are at the mercy of the government for alternative irrigation facilities. Any failure of nature, directly
affects the fortunes of the farmers. Secondly, Indian agriculture is largely an unorganised sector, there is no systematic planning in cultivation, farmers work on lands
of uneconomical sizes, institutional finances are not available and minimum purchase prices of the government do not in reality reach the poorest farmer. Added to
this, the cost of agricultural inputs have beer, steadily rising over the years, farmers’ margins of profits have been narrowing because the price rise in inputs is not
complemented by an increase in the purchase price of the agricultural produce. Even today, in several parts of the country, agriculture is a seasonal occupation. In
many districts, farmer’s get only one crop per year and for the remaining part of the year, they find it difficult to make both ends meet.

The farmers normally resort to borrowing from money lenders, in the absence of institutionalized finance. Where institutional finance is available, the ordinary farmer
does not have a chance of availing it because of the “procedures” involved in disbursing the finance. This calls for removing the elaborate formalities for obtaining the
loans. The institutional finance, where available is mostly availed by the medium or large land owners, the small farmers do not even have the awareness of the
existence of such facilities. The money lender is the only source of finance to the farmers. Should the crops fail, the farmers fall into a debt trap and crop failures
piled up over the years give them no other option than ending their lives.

Another disturbing trend has been observed where farmers commit suicide or deliberately kill a family member in order to avail relief and benefits announced by the
government to support the families of those who have committed suicide so that their families could atleast benefit from the Government’s relief programmes. What
then needs to be done to prevent this sad state of affairs ? There cannot be one single solution to end the woes of farmers.

Temporary measures through monetary relief would not be the solution. The governmental efforts should be targeted at improving the entire structure of the small
wherein the relief is not given on a drought to drought basis, rather they are taught to overcome their difficulties through their own skills arid capabilities. Social
responsibility also goes a long way to help the farmers. General public, NGOs, Corporate and other organisations too can play a part in helping farmers by adopting
drought affected villages and families and helping them to rehabilitate.

The nation has to realise that farmers’ suicides are not minor issues happening in remote parts of a few states, it is a reflection of the true state of the basis of our
economy.

hi Passage

T o 0 S T ° s’ AT UF THE IT Hs a9 7S Al § for@t AT g1 AR o A1+ (1), (2), (3) #i¥ (4) Fewew i w ) = 7 39 Ao #r
W%ﬂﬁ%ﬁ%ﬁ&?ﬁﬁxmwawwmﬁ%wmwwwﬁwwﬁvﬂmaﬁmaﬁwamWﬁ%
T 3| HIS STt aTel TIT Y ST Tl of TeRaT a7 I (5) DT, 1T HeeT smaesh 751

Q-136 Choose the word which is most OPPOSITE in meaning to the word given in bold as used in the passage.

eng
NARROWING
01. Broadening 02.  Stretching
03. Changing 04. Increasing
0S. Extending
Q-136 A AT FT HLT G4 TS TSI AT 2l
hi
01. A ¥ o 02. HTT HaH =T
03. HTT HaH =T 04, ZHTT FaH =T
05. HeTTer SaeTF Tl
Solution for Question 136 Ans Key: 4
eng Increasing
For other options:

Stretching (v)- extending




Q-137 Choose the word which is most OPPOSITE in meaning to the word given in bold as used in the passage.

eng
SUPERFICIAL

01. Careless
03. Extreme
05. Fear

Q-137 1991 H HeATZE 3T FHae 2dT 3 & AT SIS T AILAT el aT & SH § Ta9 927 819 g1’

01. i gfaamar

03. Frar |

05. FeTTer Sa9TF Tl
Solution for Question 137

02. Profound
04. Articulate

02. i zFrTE

04. FgaeH

Ans Key: 2

eng Superficial (adj)- apparent
Profound (adj)- keen
For other options:
Articulate (adj)- fluent

Q-138 Choose the word which is most SIMILAR in meaning to the word given in bold as used in the passage.

WOES

01. Suffering
03. Bitterness
05. Fear

02. Tragedy
04. Anger

Q-138  FTSI & AT ASI SN F HTHHTS A AT 5 THEA R 2

01. TS

03. e

05. FoTTerT 9T Tot
Solution for Question 138

Suffering

For other options:

Tragedy (n)- unfortunate happening

Q-139  Choose the word which is most SIMILAR in meaning to the word given in bold as used in the passage.

GRAVE

01. Cemetery
03. Trivial

05. Severe

02. =5
04. TTSTeRTST

02. Fatal
04. Carve

Q-139 =T &2 H FTHT BE IS TF FAF T FATOIAT|

hi

01. Zreaol

03. g

05. HoTTer STA9TF Tar
Solution for Question 139

02. T Ft
04. ¥ TH

Ans Key: 1

Ans Key: 5

eng Severe
For other options:
Cemetery (n)- burial ground
Fatal (adj)- harmful
Trivial (adj)- unimportant
Carve (v)- sculpt

Q-140 Choose the word which is most SIMILAR in meaning to the word given in bold as used in the passage.

eng
BRIGHT



01. Glowing 02. Radiant
03. Promising 04. Lustrous

05. Dazzling
Q-140 =17 stoft AT 90 F7 Fa F7 AT ARl <aTl
hi

01. sreft srer 3art 02. et ff i

03. sreft srer Trgt 04.  s7sft FATT ToTt

05. FMe 9T AL
Solution for Question 140 Ans Key: 3
eng Promising

For other options:

Lustrous (adj)- shining

Radiant (adj)- shining

Dazzling (adj)- extremely bright

7 Passage for Question 141, 142, 143, 144, 145, 146, 147, 148, 149, 150 (ST-108 RRBPO (121-135) 2014)
eng Passage

Read the following passage carefully and answer the question given below it.

Agriculture has always been celebrated as the primary sector in India. Thanks to the Green Revolution, India is now self-sufficient in food production. Indian
agriculture has been making technological advancement as well. Does that mean everything is looking bright for Indian agriculture ? A superficial analysis of the
above points would tempt one to say yes, but the truth is far from it. The reality is that Indian fanners have to face extreme poverty and financial crisis, which is
driving them to suicides. What are the grave adversities that drive: the farmers to commit suicide, at a time when Indian economy is supposed to be gearing up to
take on the world ?

Indian agriculture is predominantly dependent on nature. Irrigation facilities that are currently available, do not cover the entire cultivable land. If the farmers are at
the mercy of monsoons for timely water for their crops, they are at the mercy of the government for alternative irrigation facilities. Any failure of nature, directly
affects the fortunes of the farmers. Secondly, Indian agriculture is largely an unorganised sector, there is no systematic planning in cultivation, farmers work on lands
of uneconomical sizes, institutional finances are not available and minimum purchase prices of the government do not in reality reach the poorest farmer. Added to
this, the cost of agricultural inputs have beer, steadily rising over the years, farmers’ margins of profits have been narrowing because the price rise in inputs is not
complemented by an increase in the purchase price of the agricultural produce. Even today, in several parts of the country, agriculture is a seasonal occupation. In
many districts, farmer’s get only one crop per year and for the remaining part of the year, they find it difficult to make both ends meet.

The farmers normally resort to borrowing from money lenders, in the absence of institutionalized finance. Where institutional finance is available, the ordinary farmer
does not have a chance of availing it because of the “procedures” involved in disbursing the finance. This calls for removing the elaborate formalities for obtaining the
loans. The institutional finance, where available is mostly availed by the medium or large land owners, the small farmers do not even have the awareness of the
existence of such facilities. The money lender is the only source of finance to the farmers. Should the crops fail, the farmers fall into a debt trap and crop failures
piled up over the years give them no other option than ending their lives.

Another disturbing trend has been observed where farmers commit suicide or deliberately kill a family member in order to avail relief and benefits announced by the
government to support the families of those who have committed suicide so that their families could atleast benefit from the Government’s relief programmes. What
then needs to be done to prevent this sad state of affairs ? There cannot be one single solution to end the woes of farmers.

Temporary measures through monetary relief would not be the solution. The governmental efforts should be targeted at improving the entire structure of the small
wherein the reiief is not given on a drought to drought basis, rather they are taught to overcome their ditficuities through their own skills arid capabilities. Social
responsibility also goes a long way to help the farmers. General public, NGOs, Corporate and other organisations too can play a part in helping farmers by adopting
drought affected villages and families and helping them to rehabilitate.

The nation has to realise that farmers’ suicides are not minor issues happening in remote parts of a few states, it is a reflection of the true state of the basis of our
economy.
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Q-141 What is the author’s main objective in writing the passage?

01. Criticising the policy of providing relief 02. To appeal to the non-institutional money lenders for providing loans to farmers in a hassle- free
packages to the family of farmers who manner
commit suicide

03. To applaud the dauntless spirit of the 04. To highlight the drawbacks in the agriculture sector
farmers

05. None of these
Q-141 =g T a¥g &t Pl TR AT FHAT o4 ST AT AT I FHicrsl GIE a3 AT THT T HIolSl 1T TTSTHH T30 ST ITHT ATATT HAA H AT
T g1 |1 AZT T ATeT HaT § AT HIGTE q1(ad gir?

01. == forer 02. et foreaT

03. sy fore 04. i forerr

05. greTe foreaar
Solution for Question 141 Ans Key: 5
eng The answer is inference based.

Q-142  Why is the profit margin of farmers narrowing even after increasing the minimum purchase price?
eng
(A) The minimum purchase price of the government is too low to make any profit.
(B) The quality of the inputs such as seeds and fertilizers is very poor.
(C) There has been a continuous rise in the price of agricultural inputs which adversely affects the profit.
01. OnlyA 02. OnlyB
03. OnlyC 04. OnlyAandC
05. None of these
Q-142  v=mer gegsia T it 5 fhew 9w saia § e o7 7eg® #3a7 §, 97 JadT § 3T 366 dr-8719 A4 T a1 o 7 a3edT1 J1ar 82
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Solution for Question 142 Ans Key: 3

eng The cost of agricultural inputs have beer, steadily rising over the years, farmers’ margins of profits have been narrowing because the price rise in inputs is
not complemented by an increase in the purchase price of the agricultural produce.

Q-143  According to the passage, how can general public lend a helping hand to the struggling farmers?
eng

01. By adopting the affected families and 02. By acting as a relief worker in the drought hit areas
helping them to rehabilitate
03. To provide help for building dams and 04. Not specified in the passage
better irrigation facilities
05. None of these
Q-143  YTHET TS 3T FTCS Fad & (9 FICTST T GIEA g1 ATAT ATH TNT ST AT H 77 T AT &T| T AT AT HT GAL 751 H FAT Fgl
hi STt 82
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03. HoITS 04. STHTIT
05,z & 1
Solution for Question 143 Ans Key: 1

General public, NGOs, Corporate and other organisations too can play a part in helping farmers by adopting drought affected villages and families and
helping them to rehabilitate.

Q-144  According to the passage, why don’t farmers avail the institutional finance facilities?

01. Banks are not willing to provide loans to the 02. Many NGOs and corporate organisations provide them the loans in a hassle free manner
farmers because of high risk associated
with it

03. Most of the farmers do not need finance in  04. The local money lenders charge lower interest rates as compared to such financial facilities
large scale since they work on small size
lands

05. None of these

Q-144 = =TE T=F § TR UF AT o ATATT AHHT § a9 2000 & 2008 F = =1 AT gt et =f<n i ofma g § fraw siee & stfas

# fiTae a2
01. 1,000 ETeT< 02. 5,000 ST
03. 3,000 ST 04. 4,000 ST
05. 2,000 Tt
Solution for Question 144 Ans Key: 5

The institutional finance, where available is mostly availed by the medium or large land owners, the small farmers do not even have the awareness of the
existence of such facilities.

Q-145 What are the adversities faced by Indian farmers, according to the passage?
eng

01. Lack of adequate irrigation facilities 02. Ownership of only a small piece of land by a majority of farmers, which fails to generate any profit
03. Lack of financial help to the farmers 04. All of these

05. None of these
Q-145 T TTEIFAT § I AT RIS BIAL I AHGT A H H0HAATT TR 12

hi
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Solution for Question 145 Ans Key: 4
eng The answer lies in the third paragraph.

Q-146 What does the author suggest as opposed to providing temporary monetary relief to the farmers?

eng . . ..
(A) To improve the entire agricultural setup in India instead of providing relief in the face of adversities.

(B) Providing the local moneylender with large amount of money so that small farmers can easily obtain loans from them.



(C) Empowering the farmers so that they can sustain a livelihood throughout life without having to face the desperation that adversity drives them to.
01. Only A 02. Only Aand B
03. OnlyB 04. Only AandC

05. None of these
Q-146 T f2rer &1 ®ATT AT § Fd T T&A A2

hi
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Solution for Question 146 Ans Key: 4
eng The answer lies in the fifth paragraph.

Q-147 Which of the following is NOT TRUE in the context of the passage?
eng

01. Many farmers struggle to sustain themselves 02. The government has relieved the farmers from any elaborated formalities while availing the loans
after reaping one crop in a year

03. India was made self sufficient in food 04. Some farmers commit suicide in order to avail relief package from the government
production because of green revolution

05. None of these
Q-147 =g 7 afzrft it it weT ¥ forw gt uw arteen forar

01. g9 H 02. FieraTar
03. Fes 04. TATETETE
05. =% ¥ F1E TEH
Solution for Question 147 Ans Key: 2

The answer can be inferred from the second and the third paragraphs.

Q-148  According to the author, why does the situation of agricultural sector remain grim even after making several technological advances ?

01. Indian farmers continue to face adversities 02. India has failed to match the technological advances taking place in the rest of the world
from nature as well as from the government.
03. Natural calamities have been very frequent 04. Banks have failed to provide adequate loans to the farmers
in India
05. None of these
Q-148 =T T Ir=rver § qfsEft et 1 T AT FAT g
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Solution for Question 148 Ans Key: 1
eng Indian farmers have to face extreme poverty and financial crisis, while Any failure of nature, directly affects the fortunes of the farmers.

Q-149 Why have many farmers resorted to killing family members?

eng
(A) Ttis difficult for the farmers to sustain their family’s livelihood.

(B) So that the killed family member may get rid of the persistent adversities.
(C) To avail relief package announced by the government to support the family of those who commit suicide.

01. OnlyA 02. OnlyB
03. Only Band C 04. Only Aand B

05. None of these
Q-149  T=rier H YT T FIHT A8 T AR e forg B = g1
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Solution for Question 149 Ans Key: 3

eng Farmers commit suicide or deliberately kill a family member in order to avail relief and benefits announced by the government to support the families of
those who have committed suicide so that their families could atleast benefit from the Government’s relief programmes.

hi Y F AT

Q-150 What does the author mean by “procedures” when he says that ‘farmers do not get a chance of availing institutional finance because of procedures involved
eng mit’?

01. He refers to the government guideline of ~ 02. Refers to the strict government rule of providing loans to only such farmers who can guarantee a
disbursing finance only to medium and large default free tenure
land owners

03. The formalities to avail these facilitiesare ~ 04. Refers to the danger the farmers must face from the local money lenders if they availed the loan
enormous and too difficult for an ordinary from government instead
farmer to understand

05. None of these
Q-150 T (O ToaT gRET T T ATVET H I 6 T2 T FEHA 6 11 T U156 FT ATAT AT AT Hd 2| TH a1 | TH A7 AT FT TIET Tl
hi FIAT g AT T STTg I T orea T ST f3haT st
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Solution for Question 150 Ans Key: 3

The answer lies in the third paragraph.

Q-151 Read each part of the sentence to find out whether there is any grammatical error in it. The error, if any, will be in one part of the sentence. The number of
that part is the answer. If there is no error, the answer is (5) i.e. ‘No Error’.

Inspite of (1)/ so many hardships (2)/ Amar has managed (3)/ to success. (4)/ No error (5)

01. | 02. 2
03. 3 04. 4
05. 5

o
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Solution for Question 151 Ans Key: 4
eng “Succeed’ should replace ‘success’ -After ‘to’ a verb is to be used, to get the proper meaning.

Q-152 Read each part of the sentence to find out whether there is any grammatical error in it. The error, if any, will be in one part of the sentence. The number of
eng that part is the answer. If there is no error, the answer is (5) i.e. ‘No Error’.

Mr. Sethi was (1)/ not given a promotion (2)/ because he was (3)/ frequent absent. (4)/ No error (5)

01. | 02. 2

03. 3 04. 4

05. 5
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03. 3 04. 4

05. 5
Solution for Question 152 Ans Key: 4
eng ‘Frequently’ should replace ‘frequent’- an adverb is required to qualify an adjective.

Q-153 Read each part of the sentence to find out whether there is any grammatical error in it. The error, if any, will be in one part of the sentence. The number of
eng that part is the answer. If there is no error, the answer is (5) i.e. “No Error’.

Instead criticizing (1)/ why don’t (2)/ you help (3)/ with the presentation ? (4)/ No error (5)

01. | 02. 2

03. 3 04. 4

05. 5
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01. 1 02. 2
03. 3 04. 4
05. 5
Solution for Question 153 Ans Key: 1

‘Instead’ is always followed by of .

Q-154 Read each part of the sentence to find out whether there is any grammatical error in it. The error, if any, will be in one part of the sentence. The number of
that part is the answer. If there is no error, the answer is (5) i.e. ‘No Error’.

The company’s new project (1)/ cannot be launched (2)/ unless the approval (3) / of the Board. (4)/ No error (5)

01. | 02. 2
03. 3 04. 4
05. 5
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01. 1 02. 2

03. 3 04. 4

05. 5
Solution for Question 154 Ans Key: 3
eng “Till’ should replace ‘unless’- it refers to the condition ‘something happens or not’

Q-155 Read each part of the sentence to find out whether there is any grammatical error in it. The error, if any, will be in one part of the sentence. The number of
eng that part is the answer. If there is no error, the answer is (5) i.e. ‘No Error’.

Mayank has been assigned (1)/ with that team (2)/ because he is (3)/ well qualified and experienced. (4)/ No error (5)

01. | 02. 2

03. 3 04. 4

05. 5
Q-155 = T 7 23 AT A R | atel @7 2 ™eg (1), (2), (3) 3T (4) Fie (30 70 21 et 778 @7 & T 3 & et 9 7 =mae,
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01. 1 02. 2

03. 3 04. 4

05. 5
Solution for Question 155 Ans Key: 2
eng ‘Assigned’ is followed by preposition ‘to’, so replace 'with' with 'to'.

Q-156  Which of the phrases (1), (2), (3) and (4) given below the statement should replace the phrase given in bold in the sentence to make it grammatically
eng correct? If the sentence is correct as it is given and “No correction is required’, mark (5) as the answer.

He was told for report back to the camp in the middle of the holidays when the tension at the border aggravated.

01. He s told for 02. He was telling to
03. He would told for 04. He was told to

05. No correction required
Q-156 = oW 0 S W § U T T ST g3 € S I A1 T 158 AT T &1 30 F Tohell T 9758 T R #I19 9% 7@ & & 9 a9 Th
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01. e 02. =l
03. T 04. =T
05. Ffa
Solution for Question 156 Ans Key: 4

‘Told’ is to be followed by ‘to’, as to takes v1.

Q-157 Which of the phrases (1), (2), (3) and (4) given below the statement should replace the phrase given in bold in the sentence to make it grammatically
correct? If the sentence is correct as it is given and ‘No correction is required’, mark (5) as the answer.

Although Revansh is a reputed speaker, today his speech were irrational and full of ambiguities.

01. speeches was irrational 02. gpeech was irrational
03. speech were irrationals 04. speech are irrational

05. No correction required
Q-157 1= fRw ary ek o1 § weh Fih #T gt g & oiiY 9o S O ore% WU MU ) TH & PRl U ore A Rew v 9% T 39 ¥ 98 a9 UE
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0L sisas 02. #Fae

03. fasert 04. wRFaT

05. 3
Solution for Question 157 Ans Key: 2
eng ‘Speech’ is a singular noun, so use singular verb 'was'.

Q-158 Which of the phrases (1), (2), (3) and (4) given below the statement should replace the phrase given in bold in the sentence to make it grammatically
eng correct? If the sentence is correct as it is given and “No correction is required’, mark (5) as the answer.

Psychologists are making their best efforts to understand the reason behind unruly behaviour of adolescents.

01. for understand the 02. to understanding the
03. to understands the 04. to understood the

05. No correction required
Q-158 = faw 0w s W § U Tk T ST g © T I AT Ui 958 AT AT | 346 7 Tt U 9re7 F R w9 97 7@ I F A A9 UF
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01. g 02. =19

03. 3Ty 04. 3111?{
05. ?ﬂ?'r
Solution for Question 158 Ans Key: 5
eng to takes v1 after it.
Q-159  Which of the phrases (1), (2), (3) and (4) given below the statement should replace the phrase given in bold in the sentence to make it grammatically
eng correct? If the sentence is correct as it is given and ‘No correction is required’, mark (5) as the answer.
He donated his entire wealth to an orphanage since he didn’t have a children of his own.
01. have any children 02. had any child
03. has a child 04. has any children
05. No correction required
Q-159 = fow a0 s Wy § U U T ST g © S I A1 Ui 958 AT A | 3AH 7 Tt U 9re7 F R T 97 7@ I F A a9 UF
hi ST ATHT I STTAT | Tl €61 Al AT HT JHT HH HEAT Hl I % & H S{{oha HITo1T| AT {20 T eraat | F FaTrerd SUIh A58 FT 997
FIAT B
BT AT 15 STET &7 397 AT | TAGAAT fae eaemT 7 ........... El
01. |7 02. w7
03. AT 04. IS
05. fowma
Solution for Question 159 Ans Key: 1
'Any' is the correct choice ------ to express 'negation'.
Q-160 Which of the phrases (1), (2), (3) and (4) given below the statement should replace the phrase given in bold in the sentence to make it grammatically
correct? If the sentence is correct as it is given and ‘No correction is required’, mark (5) as the answer.
The employees offers to work overtime without any compensation to increase the profit.
01. are offering to work 02. are offer to working
03. is offered for work 04. are offered to work
05. No correction required
Q-160 1= o0 70 Jeas w7 | ek h €1 FeT g3l ¢ 3T 36 1= T 2758 AT T &) TAH & et U o2 T ’h 019 02 7@ & | 98 9199 UF
' ST AT a9 STTAT 2| el €168 &l ATq FT SEh! HH HEAT I 3L h & H S{{ohd AT AT 3T T eraat § & FATTEF ST 9763 FHT 997
FIAT 2]
far=tTer ST STt 3 =9 797 & sror R FeiT aest o RS
01. smag 02, gea™
03. 97 04. Tz
05. W
Solution for Question 160 Ans Key: 4
eng “The employees’ is the third person plural and therefore the verb is to be used in the 'first form' without s’ or ‘es’
Q-161 Ifyou need to change the typeface of a document, which menu will you choose?
eng
01. Edit 02. View
03. Format 04. Tools
05. Insert
Q-161 =T ATTHT STFIH F STTTHT FT TG T STEIT 2T AT AT I AT A L2
hi

01. ufez 02. =1
03. wiHe 04. o
05. =a<

Solution for Question 161 Ans Key: 3




eng If you need to change the typeface of a document, you choose format menu.
hi TS Arrent foreT TEATaST & STSTHH Jadd il STd ¢ af 3T HiHe A T 949 Fd gl
Q-162  All computers execute
eng
01. BASIC programs 02. COBOL programs
03. Machine language program 04. FORTRAN programs
05. PL/1 programs
Q-162 T FFgEx U Fd g
hi
01. fF= TrmA 02. FETe THTH
03. mefieft 9ot e 04. et T
05. PL/1 T\
Solution for Question 162 Ans Key: 3
eng All computers execute Machine language program.
hi AT Fegee, WefIT AT TRITH TS 3d 2|
Q-163 Which of the following is the most oriented to scientific programming?
01. FORTRAN 02. FORTRAN
03. BASIC 04. PL/I
05. RPG
Q-163 =% ® § FI AT TATHT I FIH SATAT AT 82
01. wrelT 02. Frerer
03. e 04. PL/1
05. RPG
Solution for Question 163 Ans Key: 1
FORTRAN is the most oriented to scientific programming.
T AT TIUTRAT e o o7 T8 STf2E 37qe gl
Q-164 What s the control unit’s function in the CPU?
01. To transfer data to primary storage 02. To store program instruction
03. To store program instruction 04. To decode program instruction
0S. None of these
Q-164 CPU ¥ I A< FHT FAT FFIT 872
hi
01. gT=HIT ST | STET T FHEAT 02. TRITH g9 &2 FTAT
03. TfSrR STYerT TR HEAT 04. TRITH Teaer T fRhre AT
05. =H ¥ HTE TN
Solution for Question 164 Ans Key: 4

eng The control unit's function in the CPU is to decode program instruction.

hi HERL H Figrer (e HT AT, TRITH T2 Tl (SIS FAT 21T 2

Q-165 What is meant by a dedicated computer?

eng
01. which is used by one person only 02. which is assigned to one and only one task
03. which does one kind of software 04. which is meant for application software only
05.  All of the above

Q-165 =TS FFgeL FT FT AT &2

hi

01. 518 Faer UF AT g1 TART AT Arar 02, 508 U ofiT Fhaet Ueh a1 S|TeA (36T 1T 21



2l
03. ST U TR T ATFEAAL FIAT g 04. fSreRT Faer Ul TFead ¥ qaed grar gl
05. Uk Tt

Solution for Question 165 Ans Key: 2
eng A dedicated computer which is assigned to one and only one task.
hi UF ST FOET UF ST 9 UF 21 HH F % (o007 AT 2ral 21
Q-166 The most common addressing techiniques employed by a CPU is
eng
01. immediate 02. direct
03. indirect 04. register
05. All of the above
Q-166 CPU 3T AT Fad AT TSI 2o 2T 2
hi
01. =AfIe 02. =
03. T 04. <fSree<
05. I9rh et
Solution for Question 166 Ans Key: 5
The most common addressing techniques employed by a CPU is immediate, direct, indirect and register .
T Hd g7 AT qas | Ui dadis, SRfeue, STaae, Treraias T Tioree graT &l
Q-167 Pipeline implements .
01. fetch instruction 02. decode instruction
03. fetch operand 04. calculate operand
05. Al of the above
Q-167 dTETATEA e FEaT gl
01. T Zeaeer 02. Rare e
03. % sTLeE 04. Ferere TS
05. 3UXIh T4
Solution for Question 167 Ans Key: 5
Pipeline implement fetch instruction, decode instruction, fetch operand, and calculate operand.
ITSIATSH, B a9 , fShe Seedem % AURE 3iY Feaqele AT S F¥A il TFHE FHIdT 2|
Q-168 Which of the following code is used in present day computing was developed by IBM corporation?
eng
01. ASCII 02. Hollerith Code
03. Baudot code 04. EBCDIC code
05. None of these
Q-168 7= # ¥ IBM FITe FT (AT FI4 A7 <, FAHE H TIAT AT S1am 82
hi
01. ASCII 02. gfowT Fre
03. Fid Fre 04. EBCDIC #TE
05. =% T FIS Al
Solution for Question 168 Ans Key: 4
eng EBCDIC code is used in present day computing was developed by IBM corporation.
hi EBCDIC FTS ¢ AT H g fET § TAII FHAT ATAT § ST AA TTH HRAT AT 577 faawfaag far w7t am

Q-169 The Undo command is useful for?
eng

01. Restoring to disk the last file deleted. 02. Reversing the most recent action or command.

03. Clears the contents of the clipboard. 04. Clears the document window.



05. Clears the document window.

S

Q-169 g FHUE -  fore sy T Smar g

01. sffeqw fRefie g2 wrea 1 oes 7w Ree 02. 7% FHTeE AT UFI & aw FT1|

FAT
03. fFAYSIS F Frdvd T qTE FLATI
05. 3 TFS FI AT AT AT

04. =TRgHwe faeT e F2m)

Solution for Question 169 Ans Key: 2
eng The Undo command is useful for reversing the most recent action or command.
hi g FHTE, T UFAA T FHIE HI (LG9 F3 o o7 TR graT 2
Q-170 Word can be used to create
eng
01. Letters 02. Spreadsheets
03. Database files 04. Presentations
05. Tmage files
Q-170 ==Fr T 3 o ST o Smar 2
hi
01. 4z 02. T=ofie
03. ST HIEe 04, o9
05. = HIe
Solution for Question 170 Ans Key: 1
Word can be used to create letters.
TS I I o [oI0 ZTedHT ohaT ST Tl 2
Q-171 In Word, the status bar tells the user:
01. What page the user is working on. 02. The current date and time.
03.  The position of the cursor. 04. Only 1 and 3
05. None of these
Q-171 =EH, TeH T ToAL Fl --mmmmmv , T &
01, {5re U7 9% T2 1 7T 2 02. =HT TG AT HAT
03. =FE7 Ay fRarfa 04. Fae 1 T3
05. =% T FIs A5l
Solution for Question 171 Ans Key: 4
eng In Word, the status bar tells the user at what page the user is working on and the position of the cursor.
hi T |, TeH AT ITANTHAT 1 g TATAT & 19 T o8 TS T T2 HTH FT LT & ST FHL 00 (7 F47 2
Q-172  The keyboard shorteut to justify text is:
eng
01. Cul+L 02. Ctrl+R
03. Cul+E 04. Ctrl+J
05. None of these
Q-172 e SfEewrs ¥ fou £4rE aiéwe oo T 2l
hi
01. Cul+L 02. Cul+R
03. Ctl+E 04. Ctrl+J
05. i & 7 T
Solution for Question 172 Ans Key: 4

eng The keyboard shortcut to justify text is Ctrl + J.

hi T FT FARTHE F2A F oI Hars aiha o+ J B




Q-173 Ifthe user tries to exit the Word application without saving the document, Word will:
eng

01. Exit and the user will lose his/her work. 02. Prompt the user to save his/her work.

03. Tells the user that he/she is unable to exit ~ 04. Prompt the user with the Save as dialog box.
and will return to the document.

05. None of these
Q-173 =T IS, a8 Ueasad & SHFLHE HT qier o @41 Siwgee & e i Ffqer a1 &, ¥ q© --------
hi

01. TfETe g1 ST ST o0 a1 1 @r - 02, 52 & SHHT F14 89 F i Fgdl gl
&

03. o ATaamaTe FFag ufase gt ®7 04, 1T T |9 UST ST i o forT FgdT B
TqHAT & ST SIFGHE § A9 AlE

05. T & FrE AT

Solution for Question 173

Ans Key: 2

eng If the user tries to exit the Word application without saving the document, Word will prompt the user to save his/her work.

hi T2 T2, I Ul F TiFgHe T qeierd 6 famr stagie & e & 9T #3aT g a1 9 91T F ST F14 89 T4 F] FHgdT gl

Q-174  Which of the following tabs are found in the Microsoft Word Help menu?

01. Contents tab 02. Wizard tab
03. Index tab 04. All of the above

05. None of these
Q-174 wrzAMEITE I geT g H 7 7 § FI =7 & o1t S 82

01. FIezq g 02. fasTe &=
03. e 04. IITIH Tt

05. =% ¥ HIE TRl
Solution for Question 174

Contents tab, Wizard tab and Index tabs are found in the Microsoft Word Help menu.

e &g, fAaSTe 29, oliT <o &, ATSHM|IFe 9% god Hy H 70 ST &

Q-175 What do you mean by the vertical separation between columns?

eng

01. gutter 02. Margin
03. Index 04. orientation
05. Indent

Q-175 =qwt F fi= afdarer quer &1 F41 9 82

hi
01. =< 02. #1oE
03. 04. vz
05. 3=

Solution for Question 175

Ans Key: 4

Ans Key: 1

eng The vertical separation between columns mean gutter margin.

hi TANT % S aETohel I, T2 JqTH grav gl

Q-176 What type of network connection is NOT a way of connecting to the Internet?

eng
01. TCP/P 02. Dial-up
03. ISDN 04. T1
05. 13
Q-176 I AT Feash HFT FHT THL SeTAE SIS HT TLUH el 87
hi

01. TCP/IP 02. -]



03. ISDN 04. T1
05. T3

Solution for Question 176 Ans Key: 1
eng TCP/IP type of network connection is not a way of connecting to the Internet.
hi TCP/IP S FaeIe & YT 2e¥Ae § S 1 UF T Tal ol
Q-177 Whatis the default left margin in Word 2003 document?
eng
01. 1 02. 125"
03. 1.5" 04. v
0s. 3
Q-177 32003 StagHe | fShice e AT 47 282
hi
01. 1" 02. 125"
03. 15" 04. v
0s. 3¢
Solution for Question 177 Ans Key: 2
1.25" is the default left margin in Word 2003 document.
T 2003 TFYHe § Rhiee orwe AT 1.25" 2raT 2
Q-178 Portrait and Landscape are -
01. Page Orientation 02. Paper Size
03. Page Layout 04. All of the above
05. None of these
Q-178 TIEIE 3T AVSERT —ommeeeee a2l
01. oS AT 02. IO A3
03. I T3 04. IUIH T
05. =% FFTE TR1
Solution for Question 178 Ans Key: 1
eng Portrait and Landscape are type of Page Orientation.
e T ASET ISl AU & THE 3l
Q-179 Software that the computer uses to start, or “boot” is found where:
01. The Operating System (OS) 02. File Allocation Table (FAT)
03. Microsoft Windows (WIN) 04. Dynamic Data Exchange (DDE)
05. None Of These
Q-179 Hivea=w SH FFe e T g2 F3 & o0 T3 6T STt €, a8 gl 917 Sat 22
hi
01. e fawew (0S) 02. HTZ TR 2o (FAT)
03. HrzHETE FES(WIN) 04. =TI A =TT U= (DDE)
05. = 3 A0S
Solution for Question 179 Ans Key: 5

eng Software that the computer uses to start, or "boot" is found in Basic In-Out System (BIOS).

hi TqivEaa? S 742 O, AT TS FIA F [0 START Fd 8, g J14H 37 -33-2 Heed (BIOS) H TTIT 14T 2

Q-180  Which of'the following is not a correct variable type?
eng

01. float 02. real
03. int 04. double
05. char



Q-180 =% & F17 AT UF, HLT ATATA THE Tl 82

hi
01. float 02. real
03. int 04. double
05. char
Solution for Question 180 Ans Key: 2
eng Real is not a correct variable type
hi e v "2t afuae w1 T T84 g
Q-181  This case converts first character of first word of selected sentence to capital
eng
01. sentence 02. ypper
03. toggle 04. ftitle
05. lower
Q-181 7T 9 HlFee ATHT & Tl M58 & Ugel AT Hl dhided H TRATIT FdT &-
hi
01. TFEq 02. 9z
03. =frer 04. zrzfeer
05. =TT
Solution for Question 181 Ans Key: 1
To capitalize the first letter of a sentence and leave all other letters aslowercase, click Sentence case.
T AT o Tgel AL hl iU ST e THT T AT B8 H BIS el oh [o1T Hred D {oFeleh Fed gl
(Q-182  What tool can the user use to set indents or tabs?
01. Title bar 02. Insert point
03.  AutoCorrect 04. Ruler
05. None of these
Q-182 T FIF AT T, T3 IT & HeE ke & (0 TART FLAT 2
01. arged 9w 02. 9 Taric
03. sfaTFiFe 04. w7
05. =% FFTE TR
Solution for Question 182 Ans Key: 4
User use Ruler to set indents or tabs.
hi TSTL, FAL FT ITART T3¢ T 29 &l He FLA 6 (1 Fd gl
Q-183  When you start MS-Word, the opening document has the name as
eng
01. doc1 02. document 1
03.  document 04. newdocl
05. first document
Q-183 T UHUH € & Fd & AT, G g0 SFIHE & ATH ---mmmmmm 2T
hi
01. doc 1 02. document 1
03.  document 04. newdocl
05. first document
Solution for Question 183 Ans Key: 2

eng When you start MS-Word, the opening document has the name as Document 1.

hi AT THUH T [F FIJ & I, G Aol STFgHe & A1 “SFgHe ]’ grar 2l

Q-184  Which of the following shortcut keys are used for selecting the whole document?
eng



01. Ctl+A 02. Cul+S

03. Cul+Ww 04. Cul+X
05. Cul+Z
Q-184 7= 5 T & &t ariéahe o X STFHE HT TAF HLA o (o17 TART T ST 52
hi
01. Cul+A 02. Ctrl+S
03. Ctrl+W 04. Ctl+X
05. Cul+Z
Solution for Question 184 Ans Key: 1
eng Ctrl + A shortcut keys are used for selecting the whole document.
hi Ctrl + A STTETe T TX STFIHE T FAFE HIA % (70 TINT #6T SATAT &l
Q-185  The field names are enclosed within-
eng
01. <<>> 02, >><<
03. >>>> 04, <<<<
05. None of these
Q-185 1A ATH ---mmmmm- % ¥ 9 2Ia 2
01. <<>> 02, >><<
03. >>>> 04, <<<<
05. =8 F F1E 72T
Solution for Question 185 Ans Key: 1
The field names are enclosed within >.
BISA AW <<>> & 3fER B & |
Q-186 Youcan setleft, rightand ......... alignment in word processing.
0 1. centre 02- _]LlStlfy
03. top 04. Both 1 and2
05. None of these
Q-186 T o< FIATHT &, 2, TEE AT ~oeoeeeeee UATEAHE A FT TH 2|
01. Fx 02. SEIETE
03. =f7 04. AT 1 =7 2
05. =% T FIE AL
Solution for Question 186 Ans Key: 4
eng You can set left, right and centre, justify alignment in word processing.
hi AT TS TIETET § A, TEe 3T e, TRHE TATSAHE T FT Tahd gl
Q-187 Therole of a... generally determine a buyer’s needs and match it to the correct hardware and software.
eng
01. Computer scientist 02. Computer sales representative
03.  Computer manufacturer 04. Computer operator
05. Computer instructor
Q-187 TH -l FT IHT A AT TF AT 61 STELAT HT LT FIAT 37T Tl Sread a AIFeaa? F 37 7 F7 2
hi
01. Fwez a=A® 02. Feew fawa g
03. Fegez fAemar 04. Fogez AT
05. Feez gidre®
Solution for Question 187 Ans Key: 2

eng

The role of a Computer sales representative generally determines a buyer’s needs and match it to the correct hardware and software.



hi T Fege? i farsht Tafafer smer: ora 9 o2 uF @dea i T=al oY SH Tl gready oY aifeaa? ¥ §= FHIAT grdT 2

Q-188  Which of the following allows you to communicate with multiple users at the same time ?

eng

01. Instant messaging 02.
03. A chat room 04.

05. None of these

E-mail
A photo community

Q-188 7% H & T STH! UF & 0T § F3 TATHAT 6 AT AT HLA 0T SAATT 2T 52

hi
01. 2wz Fafomr 02. £ o«
03. == 04. T FRIAET
05. i & T
Solution for Question 188 Ans Key: 3
eng A chat room allows you to communicate with multiple users at the same time .
hi U =E &H AT TF g THT H FH< TATHISN 6 dT HATE I il STTATT 2T 2l
Q-189 How does the keyboard’s Backspace key work?
eno
01. It erases characters to the left of the cursor . 02. It erases characters to the right of the cursor.
03. It moves the cursor left. 04. 1t erases the character above the cursor .
05. None of these
Q-189  HIaTES T TFHEUH 6l FF FTH FLAT 52
01. g FETF aT8 AT F ATLHT Warar g 02. I FEL F TS AL F AT & (Wl g
03. g FET T ATE T o AT 2 04. 7 FHETF FIL F FFT Al (Wt g
05. =% ¥ FIE 721
Solution for Question 189 Ans Key: 1
The keyboard’s Backspace key erases characters to the left of the cursor .
FTETE T THETH Foil, HEL 6 qTS AT & HLFL Bl g20dT &l
Q-190  Which of the following will determine your choice of systems software for your computer ?
01. Ts the applications software you want to use 02. Is it expensive
compatible with it
03. Is it compatible with your hardware 04. 1and3
05. 1and2
Q-190 7= 5 § &I &1, ATH TS F [ R AIFEaT T ATTH S T (FETLT FHIT?
hi
01. 7 o ST UfeaaherT Affeaae w02, FATAg /e 8
FIAT ATET & 3 AT FAfead g 1 Tal
03. 7 T AT FTEAIT & a1 Ffeaa g 04. 1373
05. 1372
Solution for Question 190 Ans Key: 4
eng Systems software for your computer is the applications software you want to use compatible with it and it is compatible with your hardware.
hi AT Foge & Forw F#47 Eeed Aitea=® F a7 UsA e AiFeday FFIead ¢, 3T F7 T8 9% gredd? & ard FFfead g ?

Q-191  In the blocked state
eng

01. the processes waiting for I/O are found 02.

03. the processes waiting for the processor are 04.

found

05. None of these
Q-191 =l ®eH-

the process which is running is found
All of the above



01. /O FT ST Fx ATet WhaTd gt g 02, ¥ & arett Tierard arft STt 8
03.  SEwE T T FLT qTe TR arEt 04, IURiE At

ST &
05. =it & 8 T
Solution for Question 191 AnsKey: 1
eng In the blocked state ,the processes waiting for I/O are found .
hi SATFE T2 H, TTHE U T % (7T S Fd &
Q-192  Which keystorke will take you at the beginning of the next of previous page of the document?
eng
01. Ctrl+PageUp and Ctrl+PageDown 02. Shift+Home and Shift+End
03. Ctrl+Home and Ctr 1+End 04. The only way is by using the right scroll bar
05. None of these
Q-192  FIT AT Ay T ATHT STFLHE F U= IS o F1 AT IS o6 T H o S[T0?
hi
01. Ctrl + PageUp 3fi< Ctrl + PageDown 02.  Shift+Home 3f< Shift+End
03. Ctrl+Home 3fi% Ctr I+End 04. 7g Fae T2 TRIAT AL F ITART | FoHAT ST THaT &
05. =H q FIE A1
Solution for Question 192 Ans Key: 1
Ctrl+PageUp and Ctrl+PageDown
FZTT + PageUpaiCtrl + PageDown
Q-193  The candidate key which identifies the tuples in a relation uniquely is-
01. Super key 02. Primary key
03. Foreign key 04. 2and3
0S. None of these
Q-193  UF Rered | 29 Fl TgAT aTell (A 1erg & Fi 47 22
01. Fuz “Fp 02. wr=aL v
03. ®RF 04. 2373
05. =it 3 7S
Solution for Question 193 Ans Key: 2
The candidate key, which identifies the tuples in a relation uniquely is Primary key.
T e ¥ FiRze e, e #r f{fore v 7 vgmma g S areEd i Fea 2
Q-194 Database management systems are intended to
eng
01. eliminate data redundancy 02. establish relationship among records in different files
03. manage file access 04. maintain data integrity
05. All of the above
Q-194 =TT TS TOTR 1 3597 2T 8-
hi
01. =7 RSt it FHH F2AT 02. fferer wreat § sAfver@l & o1 dae eArfd FA1
03. THTEeT THAH T TG 04. Ta7 TERE FTT T
05. I &+t
Solution for Question 194 Ans Key: 5
eng Database management systems are intended to eliminate data redundancy,establish relationship among records in different files and manage file access

and maintain data integrity.

hi TeTae HastHe fBeew, 2rer Rerewt 1 gem, e wrea & Y | Reree wofua a3 & fory, wree vas 8997 i3 3i¥ 21er SERET Aresy

FTA o forT a9 971 2

Q-195 Internetis

eng



01. alocal computer network 02.

03. an interconnected network of computers ~ 04.

a world wide network of computers

a world wide interconnected network of computers which use a common protocol to communicate

with one another.
05. a client computer
Q-195 Z=wzi-
hi
01. T TRt FTYET Az 02. oot 1 U fo =Tt A
03. F=IeT T UF TRETF "eah 04. Fegexi T U feasa it TRET e qeas S U FIAA GIEhie 1 SUART UF gAY §

05. TF FATEE FFqT

FH[ATE FA & o Far gl

Solution for Question 195 Ans Key: 4
eng Internet is a world wide interconnected network of computers which use a common protocol to communicate with one another.
hi ZaTAE UF ATIF AT H TLEIL 2 FTST HT UF Fedah g S Uk gAY & qr HATG FHI & [oI7 TIEThIe FHT TR FT 2
Q-196 By an intranet we mean
eng
01. aLAN of an organization 02. a Wide Area Network connecting all branches of an organization
03. a corporate computer network 04. anetwork connecting all computers of an organization and using the internet protocol
05. None of these
Q-196 ZTHE T AT AL &-
01. U= TS FT AF 02. T T 6T FHY ATETEN HI ST & o TF a2 TRAT Aeaw
03. THF FAAT T FHL qeah 04. TH ST % THT FTLE] HI SIS ATAT e 3T TaTAe TIEThid Bl ST
05. =it iy 478
Solution for Question 196 Ans Key: 4
By an intranet we mean a network connecting all computers of an organization and using the internet protocol.
T T &1 A g T AT TeTAe TIerahie &1 STAN Fh T SIS & THT HCIe0 il SII=d gl
Q-197  Which layer is closer to the user?
01. Network layer. 02. Physical Layer
03. Data Link Layer 04. Application Layer
0S. Presentation layer
Q-197  FIF & AF2 I F qaA119% e gt 82
01. W a% 02. foRiSEFer A
03. =rer forsh 17T 04. ufteaors 197
05. wSfeerd wa%
Solution for Question 197 Ans Key: 4
eng Application Layeris closer to the user.
hi AN X, STANTHAT 6 HLE 2Ial gl
Q-198 If you wanted to create a broadcast that could be downloaded from the Internet, what would you create?
eng
01. [Broadcast 02. EShow
03. Podcast 04. [Cast
05. EPost
Q-198 =fT 3T UF FAleHEe aAMT AT &, S Fevde ¥ STeaare AT ST ashdT & a7 T 7 a=Ti?
hi
01. rE-sieshre 02. .97
03. TisFTee 04. arg-wTES
05. 2.gre
Solution for Question 198 Ans Key: 3




eng If you wanted to create a broadcast that could be downloaded from the Internet, then you create podcast.
hi TS AT FTSHTES TAMT ATEd & OH TeTAe U2 STSAAE AT SIT & AT ST TS ahTee a11d gl
Q-199 Ifyou wanted to be part of an online community that creates an educational web site that allows its members to add or to change its information, what type
eng of web site would you need?
01. Educational or .edu 02. Social networking site
03. Wiki 04. Web 2.0
05. None of these
Q-199 T[T T UF SAAATST THETH FT GFT T94T AT & S U ATeTH a9 q12e a|TdT § ST T HIEAT I 390 SR SATE IT TZAT 0T SATAf
hi AT AT zES o smuat R SRt T 3 ATEe T A eThar g
01. 9reqforsh T .edu 02. Frerer et A15e
03. far 04. 372.0
05. it i 7S Y
Solution for Question 199 Ans Key: 3
eng If you wanted to be part of an online community that creates an educational web site that allows its members to add to or change its information, you need
Wiki type of website.
T2 ST UF AAATSA THITT FT (AT ST ATgd & ST U ATerF 9 AT aAT1dT @ 98 AT TGEAT 1 SIS o (o7 AT ST TR I Jaed T
T SITHTT AT g AT ATTHT ATHTSE * AT TR 6T STELT 2l
Q-200 Cisa-
01. high level language 02. ow level language
03. high level language with some low level 04. Jow level language with some high level features.
features.
05. None of these
Q-200 CUH------ 3l
01. ?fl‘?fﬁé&l (aﬁ‘ia\_rl 02. Gﬁ'aa | ﬁ‘a\_ﬂ
03. AT A FlFw F AT T1E Ao Avast 04, 5 TS AAA HI= % & AL G AT
05. =it 3 7S T
Solution for Question 200 Ans Key: 3

C is a high level language with some low level features.

C U TS (e AT % |7 % Al Aae =< il T@dT gl




